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Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20
Sub-Section Number: 1
Sub-Section 1d: 5459273049
Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 54592751309 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A series is given with one term missing. Select the correct
alternative from the given ones that will complete the series.

HL39, QX80, Z]J121, IV162,?

Options:

1. v RH203
2. » RE213
3. = §F203
4. » SE213

Question Number : 1 Question Id : 54592751309 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Uk eTshA o I g, SHA @ vk ug e g fov e
fasredl A & a8 Wl fdhed IV, ST 3ThA T G

HL39, QX&0, ZJ121, V162 | ?

Options:

1. v RH203
2. = RE213
3. = SF203
4. = SE213



Question Number : 2 Question Id : 54592751310 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A series is given with one term missing. Select the correct
alternative from the given ones that will complete the series.

D11B, K13W, R17R, Y19M , ?

Options:

1. = F29I

2. v F23H
3. = E23G
4. = E29H

Question Number : 2 Question Id : 54592751310 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

sk 3fefshA feam I g, oA @ vk ug ofed g1 feu A
faredl & & g8 @ET [Ahed IV, ST 30THA FT W R

D11B, K13W, R1/R, Y18M | 7

Options:

1. = F29I
2. v F23H
3. = E23G
4. = E29H

Question Number : 3 Question Id : 54592751311 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A series is given with one term wrong. Select that wrong term
from the given alternatives.

AR, DO, GL, JI, ME



Options:

1. % GL
2. % I

3.v ME
4. % AR

Question Number : 3 Question Id : 54592751311 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

sk 3fefshA feam o T g, oA & vk ug derd g1 feu A
fasredl & @ 39 T TE HT A0

AR, DO, GL, JI, ME

Options:

1. = GL
2. = Jl
3. v ME
4. = AR

Question Number : 4 Question Id : 54592751312 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the following question, select the odd letters from the given
alternatives.

Options:

1. v+ UQSR
2. % JFIH
3. * OKNM
4. » VRUT

Question Number : 4 Question Id : 54592751312 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



forafafaa ma # Qu v fosmedt # & fawA 3eRT &1 glav)

Options:

1. v UQSR
2. = JFIH

3. » OKNM
4. = VRUT

Question Number : 5 Question Id : 54592751313 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the following question, select the odd letters from the given
alternatives.

Options:

1. » TWUZ
2. » ORPU
3. v EHFL
4. = ILJO

Question Number : 5 Question Id : 54592751313 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

farafef@d gear & fqu v fasredl A @ fAvA 37817 *T AT

Options:

1. = TWUZ
2. = ORPU
3. v EHFL
4. = |LJO

Question Number : 6 Question Id : 54592751314 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the following question, select the odd word pair from the
given alternatives.



Options:

1. = February - March

2. = August - September
3. = May - June

4. v November - January

Question Number : 6 Question Id : 54592751314 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AFI T e A T 70 Oedl H O AYH o= I &Y
ai?lQI

o)

Options:

1. = TIET - AT

2. = 39T - WarR
3. = AS - S
4. v ddFEL - STdadl

Question Number : 7 Question Id : 54592751315 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the following question, select the related word pair from
the given alternatives.

Metal : Ore 1 ?

Options:

1. v Paper : Wood
2. = Clothes : White
3. » Road : Flat

4. = Egg : Omelette

Question Number : 7 Question Id : 54592751315 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



farafai@d wead A QU 910 fashedl A & HTOd osg IIA H
AT

YT 3AER o ?
Options:

1. v hIITaT : olhal

2. % T : g

3. = Hsh ; GHJA

4. = 37UST : 3THelT

Question Number : 8 Question Id : 54592751316 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the following question, select the related word pair from
the given alternatives.

Chapter : Book :: ?

Options:

1. = Pen : Nib

2. v Arc : Circle
3. * Room : Car
4. = Cart : Wheel

Question Number : 8 Question Id : 54592751316 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

frafaiET ued A Qe a1 Boewt A @ @afda osg IEES Ea)
aﬂi?lﬂl

3T TEISh o ?

Options:



1. » FolH : @9

2. v AT : Jcd

3. % HHAILT : N
4. % R : AT

Question Number : 9 Question Id : 54592751317 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the following question, select the related letters from the
given alternatives.

PRTU : RURR :: ABPR : ?

Options:

1. v CENO
2. » BFMP
3. = CFNP
4. = BEMO

Question Number : 9 Question Id : 54592751317 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

farafafad ma # Qv v faredt # @ @afOd 3761 H |

PRTU : RURR :: ABPR : ?

Options:

1. v CENO
2. = BFMP
3. = CFNP
4. = BEMO

Question Number : 10 Question Id : 54592751318 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



In a certain code language, ‘PHONE’ is called as ‘CHAIR’,
‘CHAIR’ is called as ‘TABLE’, ‘TABLE’ is called as ‘RIVER’,
‘RIVER’ is called as “WATER’, WATER’ is called as ‘PLASTI( .
Where do we sit?

Options:

1. = Phone
2. » Chair
3. v Table
4, = Walter

Question Number : 10 Question Id : 54592751318 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T [Qferse RIE AT H, Bl Y ﬁ FET SITaT &, gﬂfl‘f FY
AT FET ATdT &, ‘Bol’ &l ‘T4 F@l T &, ‘ddl’ sl ‘STl
FET ST &, “STol’ I ‘TATecsh’ @l Sl & &H Fal Sod &7

Options:

1. % e
2.«
3. v A
4, = el

Question Number : 11 Question Id : 54592751319 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In a certain code language, ‘PAPER’ is called as “‘WOOQOD,
‘WOOD is called as ‘BOOK’, ‘BOOK’ is called as ‘SALARY’,
‘SALARY’ is called as ‘REDY, ‘REIDY is called as ‘TABEL’. What do
we recelve as a income?

Options:

1. = Salary
2. = Table



3. v Red
4. = Book

Question Number : 11 Question Id : 54592751319 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Tk [Afese RIg AT H, ‘FHETST T ‘oIhal’ el SIidl &, ‘olhal
I TohdE el JATdT &, Tohde &l dde Hal SIdrl &, dde
I ‘GTel’ FaT SATdT &, el &I ‘AT Fal a1 &1 &7 3T &

TT H T "I gidT §7

Options:

1. = ddd
2. % Al
3. v ool
4, » TR

Question Number : 12 Question Id : 54592751320 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In a certain code language, ‘Raj is student’ is written as 1k ta
mp’, ‘Student are hard’ is written as ‘rp mp tr’, ‘Hard are Raj’
1s written as ‘tr Ik rp’. What 1s the code for ‘are’ in that code
language?

Options:

1. = mp
2. % 1K
3. 1r
4. v1irorrp

Question Number : 12 Question Id : 54592751320 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



T Taferse g #m9T 7, ‘Raj is student’ &7 ‘lk ta mp’ for@Tm
ST &, ‘Student are hard’ &7 ‘rp mp tr' el ST &, ‘Hard
are Raj’ & ‘tr |k rp’ fol®@T STAT &1 50 15 &7 H ‘are’ &l
IS FIT &7

Options:

1. = mp
2. % |k
3. = fr

4. v tr AT rp

Question Number : 13 Question Id : 54592751321 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A, B, Cand D are 4 students. A, B and C likes cricket. B, C and
D likes hockey. C, D and A likes badminton. B and D likes
swimming. Who like the least number of sports?

Options:

1.vA
2. % B
3. Aor(C
4.« CorD

Question Number : 13 Question Id : 54592751321 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A,B, CaumD43FTE A BIar C & forehe o8g &1 B, C
dar D kT lehl 98E &1 C, D dar A &I SsfHca e &1 B
AT D hr NTehT T7AE &1 o8 A To hd T0g &7

Options:

1. v A
2. « B




3. » A 3yar C
4., = C 3yar D

Question Number : 14 Question Id : 54592751322 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

P1, P2, P3, P4, P5, P6 and P7 are 7 different pens. 2 pens are
red, 3 are green and 2 are black. P2, P4 and P7 are not green
coloured pens. P5 and P6 are not red coloured pens. P3 is a
green coloured pen. P1 is a black coloured pen. P2, P6 and P7
are not black coloured pens. Which two pens are of black
coloure?

Options:

1. = P2, P4
2.v P1, P4
3. = P1, P5
4. % P1, P3

Question Number : 14 Question Id : 54592751322 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

P1, P2, P3, P4, P5, P6 aar P7, 7 Rfdes daT & 2 O @ral
& 38L& aur 2 &t &1 P2, P4 ur P7 & T & U a5 &l
P5 T P6 @Tel 9T ok Oaf oigl &1 P3 Teh &Y T T U gl P
Uk hTel 33T T Uel &1 P2, P6 T P7 hrol 6T & Uel ool &l
Hiel & ST Ul hrel T o &7

Options:

1. « P2, P4
2. v P1, P4
3. = P1, P5
4. = P1, P3




Question Number : 15 Question Id : 54592751323 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

P1, P2, P3, P4, P5, P6 and P7 likes seven different music M1,
M2, M3, M4, M5, M6 and M7 (not necessarily in the same
order). Each music 1s liked by exactly one person. P2 likes M6.
P5 doesn’t like M3 or M5. P6 likes M2. P1 likes M4. P3 likes
M3. Which of the following statement is correct?

Options:

1. = P4 likes M6
2. v P5 may like M7
3. » P7 may like M4
4. » P4 likes M7

Question Number : 15 Question Id : 54592751323 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

P1, P2, P3, P4, P5, P6 2T P7 &l &g affies Fafia M1,
M2, M3, M4, M5, M6 Jarm M7 (ST&{r &l T & 7 # 8N
UHE g Ucdeh HIlld shdel Ueh SUiord dNT TG [ohdT SITdT &
P2 Y M6 Tgg &1 P5, M3 ar M5 qgg gl a1 &1 P6 I
M2 o8e &1 P1 s M4 98g &1 P3 & M3 wdg g1 Toeefel i
H & el AT FUT TGT &7

Options:

1. = P4 &Y M6 u¥g &
2. v P5, M7 &l 98 ¥ Hhdl &
3. * P7, M4 &Y 9Hg T TehalT §
4. » P4 &1 M7 &S &

Question Number : 16 Question Id : 54592751324 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



5 persons F1, F2, F3, F4 and F5 are driving five different cars
(1, C2, C3, €4 and €5 (not necessarily in the same order). They
wear one of the five different type of clothes P1, P2, P3, P4 and
P5. None of them wear same type of clothes. Person with C5
car is wearing P4. F2 is driving C1. F1 is driving C2. F5 is
wearling P5 and is not driving C3. F1 doesn’t wear P3. F3 Is
wearing P2. Who is driving €3?

Options:

1. = F1
2. % F2
3.vF3
4. % F4

Question Number : 16 Question Id : 54592751324 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

5 sgfea F1, F2, F3, F4 gor F5 g [dfeeT s C1, C2,
C3, C4 dar C5 (ST 8T hr 6T v H &) I TJoT § &1 T
BffeaT whT & Fusr P1, P2, P3, P4 g1 P5 & & Al '

FT UG ol 3dH T g T AT UhN T HUST dal IgadT gl
C5 &R arel &afdd o P4 uger &1 F2, C1 =T 38T &1 F1,

C2 eIl T&T &1 F5 & P5 Ugar § dar C3 «#gr Ter & ol F1,
P3 &l Ugadr &1 F3 & P2 9gaT &1 C3 & hiel Tl I@T &7

Options:

1.« F1
2. % F2
3. v F3
4. = F4

Question Number : 17 Question Id : 54592751325 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25

5 persons P1, P2, P3, P4 and P5 are playing one of the five
different games G1, G2, G3, G4 and G5. They drink 5 different
types of soups S1, §2, §3, S4 and S5. Each person drink only
one type of soup. P2 and P3 do not play G1, G2 or G3. P4 drink
S5. P1 and P5 do not drink S1 or S2. P4 does not play G2. P5
plays G1. P3 does not play G4 and does not drink S§2. P5 does
not drink S3. Which of the following combination of Person -
Game - Soups is correct?

Options:

1. = P1-G3-585
2.vP1-G2-383
3. %= P5-G1-52
4. % P2-G4-83

Question Number : 17 Question Id : 54592751325 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

5 =afed P1, P2, P3, P4 gar P5 ura faffles Bl G1, G2,
G3, G4 TUT G5 H# O Tk Bl Tl 12 &1 T 5 BFeeT T F
ga S1, S2, S3, S4 duT S5 Uid g1 YA AP hdel Teh
SR ST g UIer g1 P2 T P3, G1, G2 a1 G3 oI Ferd gl
P4, S5 drar &1 P1 gt P5, S1 A1 S2 «igl 9 g1 P4, G2
T8l Ferdr &1 P5, G1 Zerar &1 P3, G4 «gT "eldr § Jr S2
el 9rdr g1 P5, S3 &8I Uiar g1 Teeafoli@d # & SAlod -

Zel - g9 T el - AT IS HEl &7

Options:

1. = P1 - G3 - 55
2. v P1-G2-53




3. % P5-G1- 82
4, = P2 - G4 - S3

Question Number : 18 Question Id : 54592751326 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the following question below are given some statements
followed by some conclusions based on those statements.
Taking the given statements to be true even if they seem to be
at variance from commonly known facts. Read all the
conclusions and then decide which of the given conclusion
logically follows the given statements.

Statements:
I. No red is blue.
II. Some blue are green.

Conclusions:

I. Some red are green.

II. Some green are red.

III. Some green are not red.

Options:

1. = Only conclusion II follows
2. v Only conclusion III follow
3. *» Only conclusion I follows
4. = Nelther conclusion follow

Question Number : 18 Question Id : 54592751326 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Eﬁﬁﬁ;@?r@q‘i’?rﬁ?aqmd 3T 3% T 3T FUAT W

TR Fo sk fqU a0 §| A0 70 FY=l HT Al A, T8
38 TTHET AT J28 8 eerar gh T @ty 06 v i
iR fY ToF U 910 Fier & ooy, 60 a0 Farar & 3maR
T rFaaed gl

<h el

. R o, ST AT &l

. Fo SATolT, 83T &1

IGLE R

. FS e, & Bl

Il ¥ &y, o &l

Il. F& &, aTT &l &

Options:

1. = hgoel ToIShy | HTEOT Tl )
2. v haol oSy | 3TEOT FIAT &
3. % haol TSy | HHTELOT Tl g

4. » S o fIshd 3TEI0T FTEN HLAT B

Question Number : 19 Question Id : 54592751327 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25




In the following question below are given some statements
followed by some conclusions based on those statements.
Taking the given statements to be true even if they seem to be
at variance from commonly known facts. Read all the
conclusions and then decide which of the given conclusion
logically follows the given statements.

Statements:
I. Some 7Z are X.
II. Some X are Y.

Conclusions:

I. Some Z are Y.
II. Some Y are 7.
III. No Y is Z.

Options:

1. = Only conclusion I follows

2. = Only conclusion II follows

3. » Only conclusion III follows

4. v None of the conclusions follows

Question Number : 19 Question Id : 54592751327 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Eﬁﬁﬁ;@?r@q‘i’?rﬁ?aqmd AT Ik FI€ 37 FUAT W
TR Fo sk fqU a0 §| A0 70 FY=l HT Al A, T8
38 TTHET AT J28 8 eerar gh T @ty 06 v i
iR fY ToF U 910 Fier & ooy, 60 a0 Farar & 3maR
T rFaaed gl

e
. F5 Z, X g

|l g@x, Y Bl
IGLE P

. F5 Z, Y Bl

. @Y, Z gl

Il A Y, Z 78 &

Options:

1. » hgel ToIShY | HATLOT Tl g
2. % had Tashy || IHTEROT FIAT &
3. % haol oSy | 3TELOT Il g

4. v B oY forsers sraTeor FTE e &

Question Number : 20 Question Id : 54592751328 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

A series is given with one term wrong. Select that wrong term
from the given alternatives.

4,9, 20,43, 90, 186

Options:



1.~ 186
2. %9

3.= 20
4. = 90

Question Number : 20 Question Id : 54592751328 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Ush 3T T g &, Tor A @ vk ue arerd g1 feu aw
fasredl A & 39 IeId Ue F A0

4, 9, 20, 43, 90, 186

Options:

1. v 186
2. % 9
3. % 20
4

Mental Ability?2
Group Number : 2
Group Id: 5459272542
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time: 0
Group Marks: 20
IsthisGroup for Examiner?: No
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0

Mental Ability2

Section Id : 5459272542



Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20
Sub-Section Number: 1
Sub-Section 1d: 5459273050
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 54592751329 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A series is given with one term wrong. Select that wrong term
from the given alternatives.

8, 28,78, 244, 728, 2188

Options:

1. » 28
2. % 728
3.v78
4 % 2188

Question Number : 21 Question Id : 54592751329 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Uk 3R e o &, oA @ v e arerd g1 fU aw
fasredl A & 39 IoId UE FHT A0

8, 28, /8, 244, 728, 2188

Options:

1. = 28
2. % /28
3. v 78



4. = 2188

Question Number : 22 Question Id : 54592751330 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the following question, select the related number from the
given alternatives.

61:183::53:7
Options:

1. % 139
2. % 149
3. = 169
4. v 159

Question Number : 22 Question Id : 54592751330 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fArafaiET wead 7 Qe a7 [Feredt & O @af9T I&IT ?Ijﬁlvl

61 : 183 : : B3 : 7

Options:

1. = 139
2. % 149
3. = 169
4, v 159

Question Number : 23 Question Id : 54592751331 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the following question, select the related number from the
given alternatives.

23:529::31:7?



Options:

1. = 1069
2. v 961
3. = 841
4. % 529

Question Number : 23 Question Id : 54592751331 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

farafafad ma # Qv v faredt # @ GafOd T&IT H AT

23 529 - 31 :7

Options:

1. = 1069
2. v 961
3. = 841
4. = 529

Question Number : 24 Question Id : 54592751332 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the following question, select the number which can be
placed at the sign of question mark (?) from the given
alternatives.

3 8 5
|T 529 5| 14 16 7| |3 ? |10
4 3 4
Options:
1. = 4900
2. v 3600

3. = 6400



4. = 5000

Question Number : 24 Question Id : 54592751332 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ffel@aa wed # fw v et & & weed ”eg (D) &+
T T 3T dTell TEAT I AT

3 8 5
|T 520 5| ]4 16 ',-'| |5 ? |10
4 3 4
Options:
1. = 4900
2. v 3600
3. = 6400
4. = 5000

Question Number : 25 Question Id : 54592751333 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

By interchanging which two numbers the equation will be
correct?

3:6+5-8=-1
Options:

1. » 5and 8
2. 8and 3
3.=6and>5
4.+ 6and3

Question Number : 25 Question Id : 54592751333 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



foreT a7 TEIT3T &l 39T H T dcold 9T THATRIOT Tar ar
STTIT?

3:6+5-8=-1

Options:

1. = & a1 8
2. = & AT 3
3. = 6dUT 5
4, v 6 A1 3

Question Number : 26 Question Id : 54592751334 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

After interchanging which two signs and two numbers, the
value of the given equation will be “7'?

1+9-6x2+5
Options:

1. +and —, 6 and 9
2.= +and x,9and 6
3.=1and5, +and +
4. «+1and5, + and -

Question Number : 26 Question Id : 54592751334 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

foreT a7 RIZaAT TuT 2y I&IT3T Sl 399 § WEI sS&ola &
gedTd, g a0 THARIOUT T AT 7’ BT

1+9-6x2+5

Options:



1. = + JUgT -, 6 TaUT O
2. % + dUT %X, 9 41 6
3. % 1 ddr 5, + AT +
4, v 1 dUT 5, + dAT -

Question Number : 27 Question Id : 54592751335 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

By interchanging the given two signs which of the following
equation will not be correct?

+and +
Options:

1.« 7+3x9+11-6=26
2.« 8+4-16+17x34=-20
3.#5+9%x4+3-6=11
4. v6+9-11%x33+3=-105

Question Number : 27 Question Id : 54592751335 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fow 1w 3 Rigal @& 399 § WEIW dgod W oFiorad &
8 hleT TT GHHIUT TaT A6l BIET?

+ T +

Options:

1.« 7+3 x99 +11-6=26
2.« 8+ 4-16 + 17 x 34 = 20
3. * 5 +9 x4 +3-6=11
4. v 6 + 9 -11 x 33 + 3 = -105



Question Number : 28 Question Id : 54592751336 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

If ‘A” means +’, ‘B’ means “x’, then which of the following
equation Is incorrect?

Options:

1. v 72A12B3<6
2. » 15A3B2>0
3. = 6A2B3<10
4. » 16A4B2>4

Question Number : 28 Question Id : 54592751336 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

gie ‘A’ T T ‘2, ‘B’ FT AT ‘X, ar eFdATel@d § & ki 4T
THATRIUT Tal el &7

Options:

1. v 72A12B3<6
2. = 15A3B2>6
3. » BAZ2B3<10
4. = 16A4B2>4

Question Number : 29 Question Id : 54592751337 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

If28P4Q2=14and35P7Q 6 =30,then40P4Q 8=7

Options:

1. v 80
2. % 60
3. % 44
4 % 54

Question Number : 29 Question Id : 54592751337 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



I 286 P4 Q2=14gar35P7Q6=30gz, ar40P 4
Q8=27

Options:

1. v 80
2. = 60
3. = 44
4. = 54

Question Number : 30 Question Id : 54592751338 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

If 3142 = 24 and 2186 = 42, then 9517 =?

Options:

1. = 92
2. % 86
3. % 132
4 v 112

Question Number : 30 Question Id : 54592751338 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

afe 3142 = 24 duT 2186 = 42 &, ar 9517 = ?

Options:

1. » 92
2. = 86
3. = 132
4, v 112

Question Number : 31 Question Id : 54592751339 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Identify the diagram that best represents the relationship
among the given classes.

State, Country, Earth

Options:

1.@?
(@
5. (&

@D

4. =

Question Number : 31 Question Id : 54592751339 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

9% 3N Flav S A RE e qai & = & Foe w1 FLY
fA®IUT FIAT &

T, e, J2ar

Options:

1.\4"




5 - 1@

©D

Question Number : 32 Question Id : 54592751340 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Identify the diagram that best represents the relationship
among the given classes.

Elephant, Whale, Mammal

Options:

l.ﬁf

(©o

5. @

(o

Question Number : 32 Question Id : 54592751340 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25

9% 3N Flav S A RE e qai & = & Foe w1 FLY
fASqoT FLaT &

greiY, s8dl, TdaTarar

Options:

..

Question Number : 33 Question Id : 54592751341 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

After walking 4 kms, Mohan turned right and covered a
distance of 3 km, then turned left and covered a distance of 8
km. In the end, He was moving towards the North. In which
direction is his final point from initial point?

Options:

1. = South
2. » West
3. x North-West



4, v North-East

Question Number : 33 Question Id : 54592751341 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

4 ToR.AY. <rolel & aTe Algsl R 3T 73T 3T 3 FRAT wem

SO §le g8 ST 3 AT 3T 8 TR AL el 3ed A T§ 3ok
T 3T ST @1 o7 3T A Toig 3R+ fog @ fora feem
HE?

1p.w;ﬁl?rUT

2. = gieTH

3. * 3cal-yieaH

4.J3FIT—E|§

Question Number : 34 Question Id : 54592751342 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

While facing East, Mohit turns to his left and walks 6 meters.
He then turns left and walks 6 meters. Now he turns 45°
towards his right and goes straight to cover 24 meters. In
which direction is he from his starting point?

Options:

1. v North-West
2. » North
3. * West
4. = North-East

Question Number : 34 Question Id : 54592751342 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



qa hr 3T 7= ch{ﬁgUm%HHq?raﬁaﬂTﬂWGﬁﬁT
Tl &1 38 ST 98 ST 3T JBAT § d4T 6 HIeL el &
39 T8 396 SRl 3 45° AT § 3 @ 24 e &gl
g RIAT &1 TE 3 HRIEHR foog @ FRa foem & &7

Options:

1. v 3cal-uredd
2. % 3cdl

3. = UfeaH

4.  3ca-qd

Question Number : 35 Question Id : 54592751343 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the following question, select the wrong figure from the
given series.

A D Cl|lE D]IE
B B A F
Options:
1.“ B C

E D
2. %

E




4 v

Question Number : 35 Question Id : 54592751343 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

farafelf@d aeat A, &1 =0T Yz A & Tod FiA T AT

A D Cl|lE D]IE
B B U F
Options:
"I % |B C

E D

Question Number : 36 Question Id : 54592751344 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which figure is similar to the given figures?

o]

)
oo o |o
o o
Options:



=

1. =

. W
0 VP
Y

Question Number : 36 Question Id : 54592751344 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

lel €T 3hic & 918 3T & FAWT &7

2]

(o]
oo fff |o
= o
Options:



L]

4.%‘7

Question Number : 37 Question Id : 54592751345 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Three positions of a dice are given below.

P @@

Which of the following statement is NOT correct about the
given cube?

I. 7 and 8 will be adjacent to each other.
II. 3 and 9 are on opposite faces.
III. 1 and 8 are on opposite faces.

Options:

1. = only II
2. = Il and III
3.vlandIII
4. = only III

Question Number : 37 Question Id : 54592751345 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



A Tk U T el 3@EAe & =T E

P W@

fau a0 go & I H il AT FU ol dal &7

. 7 JAT 8 Uk gEY & Heled gl
II. 3 T2T 9 JBvia werehl W &l
. 1 T 8 JTRIT Herert 9T &l

Options:

1. = hael ||
2. = || Tt

3. v | aar lli
4. = haer |

Question Number : 38 Question Id : 54592751346 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

From the given answer figures, select the one in which the
question figure is hidden/embedded.

3

Options:

L K




N

s
B

2 X

Question Number : 38 Question Id : 54592751346 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

&1 9% 3o 3MpTdl A § 38 3eal 3Mhid A glaw fog #
weel 3l g &l

Options:

N

w
4



=

Question Number : 39 Question Id : 54592751347 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

From the given answer figures, select the one in which the
question figure is hidden/embedded.

<7

Options:

1. =

/I\

AUES

Question Number : 39 Question Id : 54592751347 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



&1 9% 3o} 3MHTrdl # § 38 3ead 3Mhid H glaw fog #
weel 3pld fefgd &

<7

Options:

N\

4.%L

Question Number : 40 Question Id : 54592751348 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



If a mirror is placed on the line AB, then which of the answer
figures is the right image of the given figure?

-

7
N

N

m

Options:

N
A

ZN4
K

-2
i

$
DA
D4

A

o

3

h /]
/|

’x

Question Number : 40 Question Id : 54592751348 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



e Th ZU0T T AB YT W T@T ST, AT &F 95 e M icaar
H & Fisl &7 3T T2 3Tl T TET AicITss gi?

j -

N

Options:

\¢
K‘ W

%
N

ZNY
R4

PIAK

4
DA

ZN
S

Group Number :
Group Id :

Group Maximum Duration :
Group Minimum Duration :

Show Attended Group?:
Edit Attended Group?:
Break time:

General Awarenessl

3
5459272543
0

0

No

No

0



Group Marks: 20

IsthisGroup for Examiner?: No
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0

General Awarenessi

Section Id : 5459272543

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions; 20

Number of Questionsto be attempted: 20

Section Marks: 20
Sub-Section Number: 1
Sub-Section 1d: 5459273051
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 54592751349 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Jahaj Mahal is situated in which state?

Options:

1. v+ Madhya Pradesh
2. » Uttar Pradesh

3. » Rajasthan

4. » Maharashtra

Question Number : 41 Question Id : 54592751349 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

STTETST AGoT e & Iog H ud &7

Options:

1. v HET yel

® Sccd ‘;la'QT

2
3. = {ToIETd
4

% HENTSE



Question Number : 42 Question Id : 54592751350 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following instrument is NOT used in ‘Bhavar’
dance?

I. Flute

II. Bhungal
III. Sitar
IV. Tabla

Options:

1. = Only I

2. v Only III

3. % BothIand IV
4. = Only IV

Question Number : 42 Question Id : 54592751350 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

WaTs' ofcd H Tefelidd # @ g argg I 1 39397 7160
ar Srar £

. STEAT

e

. $T9TeT

e

. TR
V. Telell

Options:

1. = Shael |
2. v g
3. % | gar IV gar



4. = hae IV

Question Number : 43 Question Id : 54592751351 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

is the famous colourful mask-dance of Kerala.

Options:

1. v Kummattikali
2. » Bagurumba
3. = Oppana

4. » Garba

Question Number : 43 Question Id : 54592751351 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

HTel FT URE T FEleT-cT ¢l

Options:

4. = IS

Question Number : 44 Question Id : 54592751352 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following is known as ‘Taj Mahal of South India’?

Options:

1. » Charminar

2. = Manora

3. v Bibl ka Maqgbara
4. = Gol Gumbaz

Question Number : 44 Question Id : 54592751352 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

@ # @ Fa S8 9Ra &1 disrAger #T gr ST §7




Options:

1. » IR AN

2. % HaANT

3. v SISl T Hhe]
4. = e IS

Question Number : 45 Question Id : 54592751353 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Who determines the policy interest rate required to achieve
inflation target?

Options:

1. = Cabinet Committee on Security

2. *» Cabinet Committee on Economic Affairs
3. v Monetary Policy Committee

4. = NITI Aayog

Question Number : 45 Question Id : 54592751353 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ﬂmtﬁr% TET R UTed e F 0T 3T Aad sITal &3
T ToTIOT i AT &7
Options:

1. » &I ATAe $T ARAZNT afafa
2. % 3T ATHAAT 1 ARAST afafa
3. v Alfges Aifa gfAa

4, = i 37T

Question Number : 46 Question Id : 54592751354 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

An Economy having both private sector and the Government
1s known as

Options:



1. = Open Economy

2. = Centrally Planned Economy
3. = Closed Economy

4. v Mixed Economy

Question Number : 46 Question Id : 54592751354 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

uer arfegaeer forad e 8y s e At & A
& dTH & ST AT &

Options:

1. = Foll 3degaeT

2. = e foaIford sreegaear
3. » ¥ 3deuaear

4. v TAET rdeggear

Question Number : 47 Question Id : 54592751355 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Agriculture Marketing is a

Options:

1. = Union Subject

2. v State Subject

3. » Concurrent Subject

4. = Subject decided by President

Question Number : 47 Question Id : 54592751355 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

¥ Furer vk J

Options:

1. % FeglT ATT
2. v T AT



3. » gHAGAr Ovg
4%U@%aﬁmﬁ"éﬁﬁﬂ'w

Question Number : 48 Question Id : 54592751356 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose thermoplastic among the following.

Options:

1. * Melamine

2. v Polyvinyl Chloride (PVC)
3. = Bakelite

4. = Polyester resin

Question Number : 48 Question Id : 54592751356 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

el @ & & d9 gacg el
o o

Options:

1. » HeTHTA

2. v Tl dasel FallSs
3. %= Schellze

4. = TifeleEel It

Question Number : 49 Question Id : 54592751357 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

An object A has a speed of 8 km/s and another object B has a
speed of 8 metre/second. Which object covers more distance
in 1 hour?

Options:

1.vA
2.% B
3. = Both cover equal distance

4. = There is no relation between there distances



Question Number : 49 Question Id : 54592751357 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Uk gE] A ®I AT 8 TRAL/AFRS § TUT gEdr g B Fr afd
8 HeT/AHs &1 Hiel & aF] U ¢ H A& g I FLAr &2

Options:

1. v A

2. » B

3. = Gl AT o7 O A &

4. = 3aT gIAT & T e TET TGl &

Question Number : 50 Question Id : 54592751358 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following mammals lay eggs?

Options:

1. = Cat
2. v Platypus
3. = Bat
4. = Rat

Question Number : 50 Question Id : 54592751358 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

R AR F @ Fi s T &
1.« fyedy

2. v Tofeug

S.WEI?:I?I'IE?_:'

4.« TET

Question Number : 51 Question Id : 54592751359 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Which of the following elements is liquid at room
temperature?

Options:

1. = Gold

2. v Bromine
3. = Gallium
4. = Cesium

Question Number : 51 Question Id : 54592751359 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT @®d & @ i IOT dcd FAY & JITATT W &F gidT &7

Options:

1. = Hial
2. v AT
3. % JTorgd
4, = GIH

Question Number : 52 Question Id : 54592751360 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following disease - mode of transmission pair Is
incorrect?

Options:

1. * Female Anopheles Mosquito — Malaria

2. v Female Aedes Mosquito — Kala-zar
3. » Water — Hepatitis-A
4. = Alr — Measles

Question Number : 52 Question Id : 54592751360 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fAraa@T & @ Fia a1 W - FOT F Ak FT JIA ITeId g7

Options:




x HTET TellFollel AToL - Hell AT
v AT TSI HTol - Flol-odd
o - guersfea-v

® dll - N
2

ol
#®

Question Number : 53 Question Id : 54592751361 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following is not an allotrope of carbon?

Options:

1. = Graphite

2. » Diamond

3. = Fullerenes
4. v Carbon fibre

Question Number : 53 Question Id : 54592751361 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT &d & & AT FIelal T Ush ILET oTal 57

Options:

1. = JFHES
2. = BNT
3.+ TR
4. v FTeleT I2AT

Question Number : 54 Question Id : 54592751362 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A washing machine is connected to a voltage supply of 110V.
The current in the circuit is 2ZA. How much power is
consumed by the washing machine?

Options:

1. » 110 W



2. % bW
3. v220W
4, = 440 W

Question Number : 54 Question Id : 54592751362 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

U arrerer Jefler 110V &1 dredst 3mqfd & gaiferd &1 gy
7 faeyd 9RT 2A &1 aTiier Fellel gRT SUsferd Ak fohelell &7

Options:

1. = 110 W
2. » 55 W
3. v 220 W
4. » 440 W

Question Number : 55 Question Id : 54592751363 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following mineral Ore is extracted using
calcination process?

Options:

1. = Sulphide Ore
2. #» Nitrite Ore

3. = Oxide Ore

4. v Carbonate Ore

Question Number : 55 Question Id : 54592751363 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AFATelld H O TfT TlasT 31IEF T TaEdTrae UTehaAT <Rl
3UAET Hleh TolahTall SATAT &7?

Options:

1. = Hehlss 3IUEh




2. % dlS¢lsc 3IAEhR

3. = 3FESS HITH

4. v FTElAC IIEF

Question Number : 56 Question Id : 54592751364 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following is NOT a method of irrigation?

Options:

1. = Canal irrigation
2. = Wells

3. » Tube wells

4. v Broadcasting

Question Number : 56 Question Id : 54592751364 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

frafafEa A& @ Sia a1 =g &1 v i =81 §7

Options:
1. = &Y s
2. = FU

3. = Z¥Fae

4. v JEROT

Question Number : 57 Question Id : 54592751365 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A 1s a narrow passage of water connecting two large
water bodies like seas and oceans.

Options:

1. = Isthmus
2. ¢ Strait
3. = Canal



4, » Sea Cave

Question Number : 57 Question Id : 54592751365 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

THET 3T ASHERT S & 95 S felshral T Sise
gTelT YTeil ShT Ueh HehTUT AT &

Options:

1. » THAISHEALT

2. ¢ SToIsHEHET
3. # gy
4. = mgé’r IRT

Question Number : 58 Question Id : 54592751366 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

When the sun, the moon and the earth are in a straight line,
the height of the tide will be higher. Such tides are called
tides.

Options:

1. = Neap

2. v Spring
3. = Autumn
4. = Soaring

Question Number : 58 Question Id : 54592751366 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ST I, IGAT 3N J2dr v Al 3@ A gl §, o Sar s
AT 3T AT &1 08 Sa I Sa HET AT &l

Options:

1. = ofg

-2

2. v &




3. & 9T
4. = @5«

Question Number : 59 Question Id : 54592751367 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following primary force(s) affect(s) Ocean
Currents?

I - Wind
II - Clouds
III - Coriolis Force

Options:

1. = Only I

2. = ITand II
3.=1,IIand III
4. v Tand III

Question Number : 59 Question Id : 54592751367 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Ao @d & @ Sid I/g i@ ao AERERIT aRTT &)

THTIT HIdl/ id gfa?

| - Jda

Il - ST&el

Il - SR &
Options:

1. = hael ||
2. = | 3
3. 0= |, 1, 33T 1



4. v | 3T I

Question Number : 60 Question Id : 54592751368 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

Which of the following factor(s) affect(s) salinity of Oceans?

I - Evaporation
IT - Influx of fresh water by rivers
III - Ocean currents

Options:

1. = Tonly

2. = I and III
3.v L 1II, and III
4. = Only III

Question Number : 60 Question Id : 54592751368 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT @&d & @ Hid T FRF ASEERT & oIguidl I THIAdT
RIAT &7

| - gTeuTeRIoT
| - AfEAT EaRT AIS UTelT & HddTE
Il - ASEPRE gRIV

Options:
1. = chael |
2. = || 3T

3. v I, 11, 3l
4. = Fae



General Awareness2

Group Number : 4
Group Id: 5459272544
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time: 0
Group Marks: 20
Isthis Group for Examiner?: No
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0

General Awareness?

Section Id : 5459272544

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20
Sub-Section Number: 1
Sub-Section 1d: 5459273052
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 54592751369 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘Swaraj’ and ‘Shaheed Dweep’ are part of which islands?

Options:

1. v Andaman and Nicobar
2. » Lakshadweep

3. = Barren Islands

4. = Sagar Island

Question Number : 61 Question Id : 54592751369 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

e 3R el @ TR adia & s 27

Options:



1. v 373ATT 3T ARER
2. % of&TedIq

3. » S¥ef G@IV

4. = HER 9

Question Number : 62 Question Id : 54592751370 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Lucknow Pact was signed between Indian National Congress
(INC) and :

Options:

1. v Muslim League

2. » British Government
3. = East India Association
4. * Home Rule League

Question Number : 62 Question Id : 54592751370 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TS U ARG TS w1 3T & AT
SEATETRT TohaT /T o

Options:

Question Number : 63 Question Id : 54592751371 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Who among the following were the leaders of Khilafat
Movement?

Options:



1. * Mahatma Gandhi and Muhammad All Jinnah
2. » Badruddin Tyabji and Muhammad Ali Jinnah
3. v Muhammad Ali Jauhar and Shaukat Ali

4. = Bal Gangadhar Tilak and G.K. Gokhale

Question Number : 63 Question Id : 54592751371 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

e Ea & & WeTha 3grelad s oidT hiel 47

Options:

1. = HECAT Ml 3T FeAe 3fell [Sear
2. « Sekgld dgeell AT HerAeg 3l fSear
3. v AIGFHAS 3l ey 3N el 3elm

4, = §Tel IR Tdeleh 3T STah. MEel

Question Number : 64 Question Id : 54592751372 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The ‘Nataraja’ Bronze sculpture belongs to dynasty.

Options:

1. = Pallava
2. v Chola
3. = Maurya

4. = Gupta

Question Number : 64 Question Id : 54592751372 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Aol HIET Hfclhell ger & geraa &l

Options:

1. = Jeold
2. v rel
3. « AR




4. = T

20

Question Number : 65 Question Id : 54592751373 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

Which of the following was a consequence of Revolt of 18577

Options:

1. = Queen Victoria was made the Governor-General of India

2. v The administration of India was transferred from East
India Company to the British Crown

3. » The administration of India was transferred to Indian
officials

4. = (Jueen Victoria was given the power to select the rulers of
India

Question Number : 65 Question Id : 54592751373 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

fearel@a & & Far 1857 & TagIg T IROMH AT7?

Options:

1. % T ST ST AT FT ITTa-oTeldoT TTAT =T 2T

2. v IR FT WRAHS ¢ ST huar & Tafeer drer i
TATATTRT T ear = a7

3. % AT T YT ARG HTURIRAT &l gEddNd T &ar
I=T 2T

4. % TaT FFRIT T IRT & THRT hT TeT Flel hl eTierd
ar s oY

Question Number : 66 Question Id : 54592751374 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which three empires were involved in the ‘Tripartite
Struggle’ for Kannauj?

Options:




1. ¥ Rashtrakutas ,Palas and Pratiharas
2. = Palas ,Pratiharas and Cholas

3. = Cholas, Cheras and Rashtrakutas
4. = Cholas, Chalukyas and Cheras

Question Number : 66 Question Id : 54592751374 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Foaital o ToIT 'TUeir ga¥ & sl O dieT GTHST ATHEeT 27

Options:

1. v Tegepe, are 3T ufder
2. = 9T, Ufasr 3R el
3. = =el, W AT TUegehe
4. = Tel, =Te[FT T AT

Question Number : 67 Question Id : 54592751375 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

1s a text on statecraft, which gives advice to kings as to
how to rule his land and discharge his duties.

Options:

1. » Mahabharata

2. » Charaka Samhita

3. v Arthashastra

4. = Abhljnanashakuntalam

Question Number : 67 Question Id : 54592751375 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

M el U Uk I &, ST JSI3T I Telg ol §

Th 98 39a T W d hd Y 3 3Uel Shcedl HT Tddgd
8

Options:



x HETHRT
x TR Gigd

v 3TRIET

% a@mldvugiwdm-l

ol

Question Number : 68 Question Id : 54592751376 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following has been classified as a medical
condition by WHO in May 20197

Options:
1. v Burn — out
2. %« Asthma

3. * Amputation
4. » Arthritis

Question Number : 68 Question Id : 54592751376 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A 2019 H Sseg o3l @ fedfeliaa # & T8 Rfeaar
iy & &7 A goffepa foram amam &7

Options:

1. v &l - 3¢
2. = GHT

3. * TaTses
4, = FTSAT

Question Number : 69 Question Id : 54592751377 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which country joined International Solar Alliance in March
20197

Options:



1. * Peru
2. v Bolivia
3. = Mexico
4. = Brazil

Question Number : 69 Question Id : 54592751377 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT 2019 H ARSI TN TSaeel H Hla AT G MAT g7

Options:

1. = O®

2. v SrelmaAar
3. = AfFaeh!
4. = wifater

Question Number : 70 Question Id : 54592751378 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

World’s first woman to cross Atlantic Ocean solo in a Light
Sports Alrcraft (LSA) named ‘Mahi ’Is :

Options:

1. v Aarohi Pandit

2. » Aparna Kumar
3. = Bhakti Sharma
4. » Archana Sardana

Question Number : 70 Question Id : 54592751378 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘AR dATHFR 3C TUICH UILHRIFE (Vel.UH.U) H 37Talliceh
HERITEN s YN hlal dTell gferar T ggell HAfgalT gl

Options:

1. v MRIEr gz




2.wmvﬁfﬂw
3. » HIFd AT

4. % 3T L]

Question Number : 71 Question Id : 54592751379 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What is the name of the technology being used by Indian
Railways for detecting obstructions on tracks?

Options:

1. « TRI-DENT
2. v TRI-NETRA
3. = IR-TRI

4. » IR-NETRA

Question Number : 71 Question Id : 54592751379 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TeERIT O 3Tl T 9dT oRla o folv sIRART Jeid ganT
SEAHATS hT ST &l deheileh Rl FIT TH §7

Options:

1. = CI5-3€
2. v Ee-a 4T

3. % S-S
4, % IEHL-a4T

Question Number : 72 Question Id : 54592751380 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What is the name of the device designed to assist in astronaut
rescue missions by European Space Agency?

Options:

1. v LESA




2. » ELSA
3. = ALSE
4. = AELS

Question Number : 72 Question Id : 54592751380 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

U 3TANET Toldl SRy HARe InT s=mg A & forv
BesaT ToRU 910 T2asd T o1 4T §7

Options:

1. v oT

2. = Tedl
3. = 3Terd
4. = veg

Question Number : 73 Question Id : 54592751381 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

NASA’s Curiosity Rover has claimed to find which of the
following gases in abundance on Mars?

Options:

1. v Methane

2. = Helilum

3. = Neon

4. = Hydrogen Sulphide

Question Number : 73 Question Id : 54592751381 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT & FYRATEET Yo o FIT T Tgaraa # Fler A7 347
@IsTel T arar Tohar &7

Options:

1. v HigdeT




2. % BIToIOH
3. = AT

4. = BIZBIolel TEHISS

Question Number : 74 Question Id : 54592751382 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The President of India subscribes to the cath in the presence
of

Options:

1. = Vice President

2. = Prime Minister
3. v Chief Justice of India
4. = Chief Minister of any state

Question Number : 74 Question Id : 54592751382 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT & Tseufa &7 3ufeafa & oqer g@r = B
Options:

1. = 37 Trogufa

2. = TITd HAT

3.waqn?ra:§mm%ﬂw
4.wﬁaﬁm$r§mm?r

Question Number : 75 Question Id : 54592751383 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

When the office of Chief Justice of India is vacant, may
appoint one of the other judges of the court to perform duties
of Chief Justice.

Options:

1. v President
2. « Prime Minister



3. = Parliament
4. = Lok Sabha

Question Number : 75 Question Id : 54592751383 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

SIS AT & AET AT HT ge Neke g &, o
50 Ul & o0 sITe o 3T wIrardrel & & U &l
G TN & U & shciedl FT qrelel el & AU fogsd

T b &

Options:

1. v Tsgafa
2. ® TTel FHAT
3. » THE
4, % SNRTHT

Question Number : 76 Question Id : 54592751384 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Part III of the Indian Constitution deals with

Options:

1. v Fundamental Rights

2. * Fundamental Duties
3. = Directive Principles of State Policy
4. x Writs

Question Number : 76 Question Id : 54592751384 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT d@faeTer &1 81T | o Tefaa &

Options:

1. v Ao MR
2. = HAifos ey



3. = T FT Alfg & e dca
4. « Re

Question Number : 77 Question Id : 54592751385 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

How many languages at present are specified by the Eighth
Schedule of the Indian Constitution?

Options:

1. = 20
2. %14
3. =19
4. v 22

Question Number : 77 Question Id : 54592751385 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

IJIATA H TlAeTe $T fodl T @R’ FohceiT smev ferfese
X

Options:

1. = 20
2. = 14
3. = 19
4, v 22

Question Number : 78 Question Id : 54592751386 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Who won Asian Snooker Championship 20197

Options:

1. * Thanawat Thirapongpaiboon
2. v Pankaj Advani
3. » Tom Ford



4. = Stephen Hendry

Question Number : 78 Question Id : 54592751386 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

2019 &7 RIS Tt ATFuarg ferde Sir?

Options:

1. » ATAEd RIS
2. v Uehol TSATUI

3. = CIH WIS

4, = TIhol Boal

Question Number : 79 Question Id : 54592751387 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following is a sport played in Asian Games?

I. Shooting
II. Archery
I1I. Boxing

Options:

1. = Tand II
2.« Tand III

3. = II and III
4. ¢« 1, II and III

Question Number : 79 Question Id : 54592751387 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



TFITolT&d H & el AT WoT TRIAS Toll H Tell ST §7

. egicaT
1. FETS
I1l. HFhaTA)
o
Options:
1. = | dar |
2. % | aar
3. = || aur Il
4. « |, I gt Il

Question Number : 80 Question Id : 54592751388 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which former Indian cricketer has been made the head of
cricket at National Cricket Academy (NCA) on July 8, 2019?

Options:

1. » Sachin Tendulkar
2. » Sunil Gavaskar

3. = Saurav Ganguly
4. v Rahul Dravid

Question Number : 80 Question Id : 54592751388 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

8 Sfelrs 2019, &1 TohE g8 #IRATT ToheheT T TS fohehe
HPIEHT (NCA) A fohhe T WHE ST 397 &7

Options:

1. % gad d“%eicM
2. % gﬁl?»r IMITHRT




3. = TR el

4. v gl &9
P

Arithmetic Ability1
Group Number : 5
Group Id: 5459272545
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group?: No
Edit Attended Group? : No
Break time: 0
Group Marks: 20
Isthis Group for Examiner?: No
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0
Arithmetic Ability1
Section Id : 5459272545
Section Number : 1
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questionsto be attempted: 20
Section Marks: 20
Sub-Section Number: 1
Sub-Section 1d: 5459273053
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 54592751389 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Whatisthevalueof 21 +7-[6-{4 - (8 + 4 x 8)}]?

Options:

1. v-15
2. % =12
3. % 15

4 %12



Question Number : 81 Question Id : 54592751389 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

21 + 7-[6-{4- (8 + 4 x 8)}] T AT AT &7

Options:

1. ¢ -15
2. = -12
3. = 15

4. = 12

Question Number : 82 Question Id : 54592751390 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

(025)°
1-0.75

What is the value of:

Options:

1. = 0.0125
2. % 0.0312
3. v 0.0625
4. % 0.3125

Question Number : 82 Question Id : 54592751390 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

(0.25)°
1075 T Al T 82

Options:

1. = 0.0125
2. = 0.0312
3. v 0.0625
4. = 0.3125

Question Number : 83 Question Id : 54592751391 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



What is the value of 46 + 72 x (1/6) — 168 + 67

Options:

1. = 28
2. v 30
3. % 42
4. % 506

Question Number : 83 Question Id : 54592751391 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

46 + 72 x (1/6) - 168 + 6 & HIF FAT &7

Options:

1. = 28
2. v 30
3. = 42
4. = 56

Question Number : 84 Question Id : 54592751392 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What is the value of 142 x 15 - 132 + 11 + 487

Options:

1. = 1655
2. v 2166
3. = 1832
4. = 2450

Question Number : 84 Question Id : 54592751392 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

142 x 15 - 132 + 11 + 48 T AT FT &7

Options:

1. = 1655




2. v 2166
3. = 1832
4. = 2450

Question Number : 85 Question Id : 54592751393 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

~ (0.03)* —(0.01)°
~(0.03)—(0.01)

If X ++0.09 _then what is the value of x?

Options:

1. = 0.44
2. % 0.31
3.v0.34
4. % 041

Question Number : 85 Question Id : 54592751393 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ofg x
Options:

1. = 0.44
2. = 0.31
3. v 0.34
4. = 0.41

~ (0.03)* - (0.01)
~(0.03)—(0.01)

+40.09 & T x @7 AT FT &7

Question Number : 86 Question Id : 54592751394 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

19
What is the value of: — +
Pepe oo o

Options:



. v 38/43
.= 48/43
% 28/43
4, = 35/43

7% B N B

Question Number : 86 Question Id : 54592751394 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

19 1
E+2+ [ T AT &7 g2
3+—]

]+l
4

Options:

1. v 38/43
2. = 48/43
3. = 28/43
4. = 35/43

Question Number : 87 Question Id : 54592751395 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What is the value of: \/5 + \{1 | e \/19+ /20 + . f49

Options:

1.+ 3
2.% 35
3.5 4
4. %45

Question Number : 87 Question Id : 54592751395 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

\/5+\/11+\/19+m$f A FAT 87

Options:




1. v 3
2. = 3.5
3. % 4
4, = 4.5

Question Number : 88 Question Id : 54592751396 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

(+3)-(4)
\(3) ()

What is the value of:

Options:

1. = 6.42
2. % 5.82
3.v541
1. % 6.41

Question Number : 88 Question Id : 54592751396 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

(8)
{(3) () |

Options:

1. = 6.42
2. » 5.82
3. v 5.41
4. = 6.41

Question Number : 89 Question Id : 54592751397 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



What is the value of 1/(3 x5) + 1/(6 x7) + 1/(7 x 9) + 1/(9 x 11)
+1/(11 x 13) + 113 x 15)?

Options:

1. v 2/15
2. % 8/15
3. = 4/15
4. = 715

Question Number : 89 Question Id : 54592751397 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

13 x 5) + /(5 x 7) + 17 x 9) + 149 x 11) + 1/(11 x
13) + 1/(13 x 15) &T AT FAT &7

Options:

1. v 2115
2. = 815
3. = 4/15
4. = /115

Question Number : 90 Question Id : 54592751398 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What is that largest number which after dividing 3500 and
2300 gives remainder 56 and 32 respectively?

Options:

1. % 42
2.v 84
3.% 136
4. % 168

Question Number : 90 Question Id : 54592751398 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



g8 Oed 3T T&AT FIT & SR 3500 Jar 2300 +r Fenfea
FLeT o TeITT ATl HHL: 56 TAT 32 WeTel Fldl &7

Options:

1. = 42
2. v 84
3. = 136
4. = 168

Question Number : 91 Question Id : 54592751399 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The average of 6 consecutive odd numbers is 22. What is the
difference between the largest number and the smallest
number?

Options:

1. %11
2. % 12
3.+10
4, % 8

Question Number : 91 Question Id : 54592751399 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

6 TR BYH TEIT3l 1 dad 22 & 99 g7 JuT §d
BICT TEAT & ST T AT FAT &7

Options:

1. % 11
2. % 12
3. v 10
4. = 8




Question Number : 92 Question Id : 54592751400 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The average of 13 numbers is 11. The average of first 7
numbers is 9 and the average of last 7 numbers is 13. What Is
the value of the 7th numbers?

Options:

1. % 13
2. % 12
3.»11
4 %14

Question Number : 92 Question Id : 54592751400 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

13 FE&ITT T 39 11 &1 9gell 7 GG T a9 § Jar
MAA 7 GEAT3t &1 T 13 &1 747 G&IAT FT AT F4T 87

Options:

1. = 13
2. % 12
3. v 11
4. = 14

Question Number : 93 Question Id : 54592751401 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A bowler takes an average of 6 wickets per match in first 8
matches. He takes an average of 5 wickets per match in all
the 16 matches. What is the average wickets taken by the
bowler per match for last 8 matches?

Options:

1.6
2. % 3
3.%5



4 v 4

Question Number : 93 Question Id : 54592751401 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Teh Jedrel Ugol 8 Har # uia #9 3iade 6 ere oidr &1 a8
gdT 16 Far # i #=9 aaa 5 Qe ofar &1 a8 v
A ufa #F AgersT gary v v 3iaa faeee & 87

Options:

1. = 6
2. % 3
3. % 5
4. v 4

Question Number : 94 Question Id : 54592751402 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In an examination, 94% of the total students passed and 84
students failed. What is the total number of students who
have appeared in the exam?

Options:

1. = 1100
2. % 1200
3. = 1300
4. v 1400

Question Number : 94 Question Id : 54592751402 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

wﬁmﬁ?m au‘i%gat%sr—cﬁv‘rgrams-ﬁtma@r—cﬁv‘r
Ul olierm A o arel Sl HT Feol HEAT FAT 7

Options:

1. = 1100




2. = 1200
3. = 1300
4. v 1400

Question Number : 95 Question Id : 54592751403 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The income of Z is 40% more than the income of Y and the
income of Y is 40% more than the income of X. The income of
Z 1s how much percent more than the income of X?

Options:

1. = 88 percent
2. » 80 percent
3. v 96 percent
4. = 84 percent

Question Number : 95 Question Id : 54592751403 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Z hr 3, Y Fr g F 40% ¥ & aur Y Fr g X FHr
T & 40% TF &1 Z T 3=, X T 3T T Tohdar giaera
HTH &7

Options:

1. = 88 wfarerd
2. = 80 yfderd
3. v 96 yfaera
4, = 84 yfaerd

Question Number : 96 Question Id : 54592751404 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Rahul got 16% less marks then Mohit. Sumit got 44% less
marks than Mohit. If Sumit got 252 marks, then what are the
marks of Rahul?

Options:

1. = 410
2. % 420
3.v 378
4. = 305

Question Number : 96 Question Id : 54592751404 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T@Hﬁ#ﬁ%ﬁﬁ%% FH 3F U gu gl gfad = Afga @
44% FH 3Th YTCd gu &1 Ife GIAT Hr 252 37 dIed gu g,
ar g F 3k FAT &7

Options:

1. = 410
2. = 420
3. v 378
4. = 305

Question Number : 97 Question Id : 54592751405 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

By selling a glass for Rs. 1040 a man gains 4%. If he sells it for
Rs. 950, then what is the value of loss percent?

Options:

1. v 5 percent
2. * 4 percent
3. = 4.5 percent
4. = 9 percent



Question Number : 97 Question Id : 54592751405 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Ush cOToFd Teh Taleld ahl 1040 9T H Sdet UX 4% T ofTH
FATAT &1 ITTg g 3T 950 SUF H Sdr &, ar gifer wfaerd T

HAToT T &7

Options:

1. v 5 wfaerd
2. = 4 gfcerd
3. = 4.5 gfaerd
4. = 9 gicerd

Question Number : 98 Question Id : 54592751406 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A person buys three spectacles at the rate of Rs. 1500 each. He
sells first spectacles at profit of 30%, sells second spectacles at
a loss of 15% and sells third spectacles at a loss of 5%. What is
the total profit/loss percentage in the whole transaction?

Options:

1. = 4 percent, loss

2. v 3.33 percent, profit
3. » 3.33 percent, loss
4. = 4 percent, profit

Question Number : 98 Question Id : 54592751406 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

U ShTFd dlel @ed 1500 30 wia 1 27 & =dear &1 a8
Ugel TeH P 30% & o W AT §, AL IRA I 15% hr
gfel UT §IdT & JAT drE IeH S 5% =l &l 9 a<Idr1 &l
g Al - AT H Fel e qﬁlﬁlﬁm@ﬁr?ﬂ%’?

Options:




1. = 4 gfqerd, &fa
2. v 3.33 yfderd, orH
3. = 3.33 ufderq, arfer
4, = 4 gfderd, o

Question Number : 99 Question Id : 54592751407 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Mohan bought a new car {rom the showroom and after one
year he sold it to Shyam at a gain of 20%. Shyam sold the
same car to Sumit at the loss of 33.33%. Finally Sumit paid Rs.
96,000 for this car. At what price Mohan bought the car?

Options:

1. = Rs. 44,000

2. = Rs. 1,36,000
3. v Rs. 1,20,000
4. = Rs. 1,50,000

Question Number : 99 Question Id : 54592751407 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AIgel of eMH ° Teh o R TGN 3 Th a¥ &6 38 54
RUTH I 20% & oM W &7 &7 21 o AT FR HI
33.33% T gifel ox AT +r ow fean 3@ A gAa o 59
R & ferv 96,000 F9F T 1Tl FhaT| Algal o FR fhE
Aed IT EHIET A7

Options:

1. = 44,000 39
2. = 1,36,000 39
3. v 1,20,000 9




4. = 1,50,000 s94

Question Number : 100 Question Id : 54592751408 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

Ifa:b:c=1:2:3, then what is (a/2) : (b/3) : (¢/6)?

Options:

1.=1:4:2
2.%2:3:1
3.v3:4:3
4. %06:3:2

Question Number : 100 Question Id : 54592751408 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

it a:b:c=1:2:38 ar (a2) : (b/3) : (c/6) T §7

Options:

1.« 1: 4
2. = 2:3
3.v3:4:3
4. = 6 : 3

2

Arithmetic Ability?2
Group Number : 6
Group Id : 5459272546
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time: 0
Group Marks: 20
IsthisGroup for Examiner?: No
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0

Minimum Instruction Time: 0



Arithmetic Ability?2

Section Id : 5459272546

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20
Sub-Section Number: 1
Sub-Section I1d: 5459273054
Question Shuffling Allowed : Yes

Question Number : 101 Question Id : 54592751409 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A and B enter into a partnership and invested Rs. 6000 and Rs.
5000 respectively in the business. After 4 months, C also joins
the business with an investment of Rs. 11,000. After one year,
they earn a the profit of Rs. 3300. What is the profit share of
B?

Options:

1. » Rs. 1000
2. * Rs. 1100
3. v Rs. 900
4. » Rs. 800

Question Number : 101 Question 1d : 54592751409 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A JaT B & U OISERT & U RAT 9UT SIad H AL
6000 39T T 5000 9 9o R 4 Al &g C AT

AT # 11000 39 & To13er o @rT enfAe & SA1dar &1 Tk
Iy gTATT 3Seaiet 3300 T oM FART| B T &1 1 gear

T 87

Options:

1. » 1000 ¥



2. = 1100 39
3. v 900 ®9&
4. = 800 39

Question Number : 102 Question Id : 54592751410 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Three partners A, B and C invested a total amount of Rs.
22,000 in a business. At the end of the year, A got Rs. 1320, B
got Rs. 1680 and C got Rs. 2280 as the share of profit. How
much amount did B invest in the business?

Options:

1. = Rs. 5300
2. v Rs.7000
3. #= Rs. 6000
4. » Rs. 8400

Question Number : 102 Question Id : 54592751410 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

drel IsieR’l o A, B @1 C T& s3gdg & 22000 s93 foaer
R a¥ & 3d H A && 1320 39, B & 1680 3ud T C

S 2280 IO, W  GTd & 3T H wIed @ &1 B o sygag
H Tohcelr TR &7 foider ToRar?

Options:

1. = 5500 T9
2. v 7000 39
3. » 6000 TU
4. % 8400 T

Question Number : 103 Question Id : 54592751411 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



If the simple interest on certain sum for 5 years at the rate of
10% for annum is Rs. 9000, then what is the sum?

Options:

1. = Rs. 16000
2. » Rs. 12000
3. v Rs. 18000
4. = Rs. 20000

Question Number : 103 Question 1d : 54592751411 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Ife v fafeag ofer av 10% afy a¥ fr v & 5 a¥ &r
TTIROT sAT<T 9000 T &, ar ufer =7 &2

Options:

1. = 16000 s9
2. = 12000 T9y
3. v 18000 U
4. = 20000 Ty

Question Number : 104 Question Id : 54592751412 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In 4 years, Rs. 4800 becomes Rs. 6000 at the rate of compound
interest {(compounded annually). What will be the amount
after 12 Years?

Options:

1. = Rs. 7675
2. % Rs. 9175
3. v Rs. 9375
4. % Rs. 9975

Question Number : 104 Question Id : 54592751412 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



4800 9 Hr fer TRgle AT Fr T @ (FF GAISTT W)
4 g9t & 6000 T @ ST &1 12 TSt s1g Tfer =47 geie?

Options:

1. = 7675 &9
2. = 9175 3
3. v 9375 Tud
4. = 9975 ¥9

Question Number : 105 Question Id : 54592751413 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Rs. 6250 becomes Rs. 6632.55 at the rate of 4% per annum on
compound interest (compounded half yearly). What is the
time period?

Options:

1. = 1 year

2. v 3/2 years
3. = 2 years
4. = 5/2 years

Question Number : 105 Question Id : 54592751413 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

4% UTdaY $T sTTeT & & Thgig STl (ITIATNh el W)
T 6250 TR, 6632.55 T &6 Sl & TAITSTS AT §7

Options:

1. % 1 ay
2. v 32 a¥
3. % 2 ay
4. = 52 a¥




Question Number : 106 Question Id : 54592751414 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The speed of a train i1s 90 km/hr and length of the train is 500
metre. What is the time taken by the train to cross a platform
of length 750 metres?

Options:

1. v 50 seconds
2. » 40 seconds
3. = 60 seconds
4. = 90 seconds

Question Number : 106 Question 1d : 54592751414 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Tk Jol@MMaT ahT 7T 90 Tor.AV./aer & 2T Iemar I o&ars 500
HIeT &1 T 750 AT o7 TolehIH Al TR Fler H I9mar

TR THT oef?

Options:

1. v 50 HFUs
2. = 40 HFUS
3. = 60 O%Us
4. = 90 HFUS

Question Number : 107 Question Id : 54592751415 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A train travels 3/5 of the total journey at its usual speed and
remaining distance at 4/5 of its usual speed. Due to slow speed
it reaches destination 1 hour late. If the total distance is 500
km, then what is the usual speed of the train?

Options:

1. = 45 km/hr
2. v 50 km/hr



3. = 55 km/hr
4, = 60 km/hr

Question Number : 107 Question Id : 54592751415 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Ueh YOEMET el ITAT T 3/5 HET AU TAY Tfd & I
FITAT & TUT AY T T FATET 0 F 45 F aF FITr &
AT aTfY & FROT FF IAAeT W 1 =l W F g &l AR
Fel T 500 FR.AT. &, AT I@ET T WA A FAT §7

Options:

1. = 45 fr.Av/Eer
2. v 50 T AV faer
3. = 55 fer.AT./eeT
4, » 60 Tor.#HT./eeT

Question Number : 108 Question 1d : 54592751416 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A man covers first 60 km distance at a speed of 60 km/hr.
Next 60 km at a speed of 90 km/hr and last 60 km distance at
a speed of 180 km/hr. What is the average speed of the man?

Options:

1. = 80 km/hr
2. » 70 kimn/hr
3. v 90 km/hr
4. = 60 kmn/hr

Question Number : 108 Question Id : 54592751416 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



U AT Tgel 60 AT, &1 gft 60 fr.aT/ger &1 oifq @ T
FLAT &1 379Ter 60 Tor.AY., 90 Fr.AY./aer i arfa @ aor 3ifaA
60 Tor.AT., 180 for.Av/aer &1 aifg ¥ =g v 3iaa afg

T 87

Options:

1. = 80 Ter.#AV./Eer
2. = 70 Tor.AT./eeT
3. v 90 fer.dAr./aer
4. = 60 for.#T./aeT

Question Number : 109 Question Id : 54592751417 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Al can do a piece of work in 20 days and A2 can do the same
work in 24 days. With help of A3, they finish the work in 8
days. In how many days A3 alone can do the same work?

Options:

1. v 30 days
2. = 28 days
3. = 34 days
4. = 18 days

Question Number : 109 Question Id : 54592751417 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A1 TRET T &7 20 TedT A T ohdl & daT A2 38T FRT &l
24 AT # T GhaT &1 A3 FT TgEar & & FF 8 &t H
THATCT T Tohcd &1 A3 3ThaT 38 T &I hde et & T
GhdT &7

Options:

1. v 30 Tea




2. = 28 f&a
3. = 34 f&
4. = 18 f&ar

Question Number : 110 Question Id : 54592751418 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

B1, B2 and B3 can complete a work in 20, 24 and 30 days
respectively. All three of them starts together but after 4 days
B1 leaves the job and B2 left the job 6 days before the work
was completed. B3 completed the remaining work alone. In
how many days was the total work completed?

Options:

1. = 12 days
2. % 13 days
3. v 14 days
4. = 15 days

Question Number : 110 Question 1d : 54592751418 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

B1, B2 2T B3 U &R &I HAem: 20, 24 Jor 30 f&alr # q
F Tl &I el o AR F 3 R e 4 feaT &
TRATT Bl o ST &3 &A1 dur B2 of ™ [ &l & 6 foe
Ugol I @ig =T BS?QWWW%@WI;W
Y fohetel foal & 9T g31?

Options:

1. » 12 faa
2.« 13 fea
3. v 14 &=




4. = 15 &1

Question Number : 111 Question Id : 54592751419 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

S1, §2 and S$3 can complete a work in 20, 24 and 30 days
respectively. They received Rs. 18000 to complete the work.
They begin the work together but S1 left the work after 3 days
and S3 left the work 6 days before the completion of the
work. $2 has completed the remaining work alone. What is
the share of S2 from the total money?

Options:

1. = Rs. 9000
2. v Rs. 10,500
3. = Rs. 12000
4. = Rs. 11, 500

Question Number : 111 Question Id : 54592751419 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

S1, 82, dT S3 Ush I T HAT: 20 &, 24 & Tor 30
fear & T T Gord §1 3eg H [ Fa & fow 18000 s
fAd @ vk @1y F % w8, Weg 3 fooT gewmad S1 F1
Sis AT ¥ T S3 F T A § 6 foet TEe B B e B
| S2 & AV FTA 3fehel & U7 TRATI Fol F9AT H T S2 FT

feear &/ §7

Options:

1. = 9000 &9

2. v 10,500 ¥92
3. = 12000 ¥
4. = 11,500 ¥




Question Number : 112 Question 1d : 54592751420 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Half of the perimeter of a rectangle is 24 cm. If the length of
the rectangle is 4 cm more than its breadth, then what is the
area of the rectangle?

Options:

1 = 120 cm?

3' v 140 cm-

4 x 160 cm?

Question Number : 112 Question Id : 54592751420 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

Ueh AT o TIRHATT T 3TUT 24 T.AL. &1 IS 3T T a9
3ThT B & 4 A 3O &, O 3T F1 9% F:IT 57

Options:
1 % 1208F2
> 96WH?

3 140 H.HT.2



A 160 H.HT.2

Question Number : 113 Question Id : 54592751421 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

If the area of a square is 18 cm?, then what is the length of its diagonal?

Options:

1. = 34/2 cm
2. v 6Cm
3. % 6+/2 cm
4, % 9 cm

Question Number : 113 Question Id : 54592751421 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

IfE Uk T T TG 18 W2 g, O 3T FeuT & Jes F2ar B

Options:

1. = 32 |48
2. v 6 9.7
3. = 642 QA
4, = 9 |.H.

Question Number : 114 Question Id : 54592751422 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The height of a cone is half of its radius. If the cone is melted
to form a sphere, then what is the ratio of the radius of the
sphere to the radius of the cone?

Options:

1.21:4
2.v1:2
3.=2:1
1. %x1:8



Question Number : 114 Question 1d : 54592751422 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Uh A% I 375 3GhT Fear & 3mely &1 I osh T v el
mﬁ#iﬁvﬁuﬂmw?,a’r?ﬁﬁﬁﬁww%@ﬁ

HedT & 37 3eUTd &7

Options:

1.« 1: 4
2. v 1:2
3.0 % 211
4. = 1 : 8

Question Number : 115 Question 1d : 54592751423 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The table given below shows the speed of 7 different cars.

Car Speed (in km/hr)
Cl1 208
C2 204
C3 196
C4 188
C5 316
C6 104
i 312

What is the ratio of combined speed of C1 and €3 to combined
speed of C2 and C7?

Options:

1. = 96 : 103
2.%85:99
3. 113 :129
4.+101:129

Question Number : 115 Question Id : 54592751423 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25

A &1 IR arfererT 7 Taffeer anfeat T arfay sy gerfdr &

- T {ﬁ:;}ﬂ'r.mzr
C1 208
C2 204
c3 196
c4 188
cs 316
c6 104
C7 312

C1 @ur C3 hr T aifcy &1 C2 dar C7 T TIF i &
AT 3T 87

Options:
1. = 96 : 103
2. = 85 : 99

3. % 113 : 129
4. v 101 : 129

Question Number : 116 Question 1d : 54592751424 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



The table given below shows the number of books bought by
a shopkeeper on different days of a week.

Days Number of Books
D1 84
D2 88
D3 82
D4 96

The number of books bought on day D4 is what percentage of
number of books bought on day D17

Options:

1. = 112.28 percent
2. v 114.28 percent
3. = 116.28 percent
4. 118.28 percent

Question Number : 116 Question Id : 54592751424 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A & I dTfelshl Tk HecTg & [afdiee feell T T gehrelan
CaNT TAIET 915 Tohatal T T@AT HT AT &

o7 | foramet & =
D1 84
D2 88
D3 82
D4 96

foeT D4 # =8y 12 foramet T d&ar feer D1 & ={dr 2
foramal T T&AT & Tohder wiaerd &7

Options:




1. % 112.28 wfcerd
2. v 114.28 ufqera
3. = 116.28 wfaerd
4. % 118.28 wiqerd

Question Number : 117 Question 1d : 54592751425 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The table given below shows the number of laptops sold by a
seller on different days of a week.

Days Number of Laptop
D1 26
D2 28
D3 30
D4 32

What is the percentage increase in the number of laptops sold
on day D4 as compared to day D1?

Options:

1. » 22.07 percent
2. v 23.07 percent
3. % 21.89 percent
4. = 28.07 percent

Question Number : 117 Question 1d : 54592751425 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



AT & IRT drfelehl Teh ITtdig & [Afded f&dl 9T Tk dehdr
SART o IR ofYeIT h! H&AT I a2ATdr &l

T | oveT $fr gE
D1 26
D2 28
D3 30
D4 32

feet D1 &7 ool # et D4 ov o 9 dUeid 1 T&dr &
frdelr afaerd gfa g5 &7

Options:

1. = 22.07 ufqera
2. v 23.07 wfderd
3. = 21.89 wfcerd
4. % 28.07 wfcerd

Question Number : 118 Question Id : 54592751426 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



The bar graph given below shows the quantity of milk sold by
a milkman on different days of a week.

400 A 350

350 1 ] :

300 1 e
]

250 4 220 210
200 -
150 -
100+ H H
0 - T . .
|32

D1 D2 D3
Day

uantitiy of milk

0
L
&

What is the ratio of quantity of milk sold on day D2 to day D4?

Options:

1. % 3:
2. % 2.
3.5
4, % 3

b= e W1 U

Question Number : 118 Question Id : 54592751426 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Sl fear IR gus T v gediE & Afeied f&er # T
gYaTel SaNT S< I g T ATAT T AT B

400 150

350 A — =
E 300 1 o o

250 { 22 210
% 200 -
Be 150 A

100 1

50 A

G T T T 1
D1 D2 D3 D4
T

feet D2 oT o< = g T AET 1 & D4 @ FAT 3eqoreT g7

Options:

1. = 3:5
2. = 2:5
3.v5:3
4. = 512

Question Number : 119 Question Id : 54592751427 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



The bar graph given below shows the number of toys
manufactured by a company on different days of a week.

1000

180
B00 1
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GO0 4 500
400 - 300 H H
200 { H
ol L 11
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D3 D4 Ds
Day

Num ber of toys

What are the average number of toys manufactured by the
company per day?

Options:

1. = 452
2.v 472
3. = 492
4. % 512

Question Number : 119 Question Id : 54592751427 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



dArd feIT =T gus ™T U Todig & afded ol # Tsh el
ZdnT TtAd REellal 1 @&ar &I geiiar &l

1000 4
300 +

600
1 500
1 300
150
200 A H H
'D T T T T 1
DI D2 D3 D4 D5
&=

T80

£ oh
2 9
L= = )

fastat #r s

Hgar ganT uia fea @fda Relar & siaa awar =17 g7

Options:

1. = 452
2. v 472
3. = 492
4. = 512

Question Number : 120 Question Id : 54592751428 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



The line graph given below shows the number of male
teachers in different schools.

500
400 380 7470
300 - 360

100 4

MNumber of male teachers

School

What is the ratio of total number of male teachers in school
S1 and S2 together to the number of male teachers in school
S47?

Options:

1. = 19:13
2.+ 18:11
3.%19:16
4 ¢+ 33:38

Question Number : 120 Question Id : 54592751428 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



s = arr Y@Er R Affes faegmerl # g8y 3edrdent @r
TEAT I Gl &

faeame S1 qur S2 & fATTRT TEW TEATTR 6T Fel TET
T TeTerd S4 H YR 3HEATIR! v TEAT H FIT 3T §7

Options:

1. = 19 : 13
2. % 18 : 11
3. » 19 : 16
4, v 33 : 38

General English1
Group Number : 7
Group Id: 5459272547
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time: 0
Group Marks: 20
IsthisGroup for Examiner?: No
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0

Minimum Instruction Time: 0



General Englishil

Section Id : 5459272547

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20
Sub-Section Number: 1
Sub-Section I1d: 5459273055
Question Shuffling Allowed : Yes

Question Number : 121 Question Id : 54592751429 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A sentence has been given with a blank to be filled with an
appropriate word. Choose the correct alternative.

She did not me coming.

Options:

1. = saw
2. % seen
3. v see

4, = seeing

Question Number : 121 Question Id : 54592751429 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A sentence has been given with a blank to be filled with an

appropriate word. Choose the correct alternative.

She did not me coming.

Options:

1. = saw



2. ® seen
3. v see
4, = seeing

Question Number : 122 Question 1d : 54592751430 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A sentence has been given with a blank to be filled with an
appropriate word. Choose the correct alternative.

Rohan is 5 than Seeta.

Options:

1. = years elder
2. = year older
3. v years older
4. = year elder

Question Number : 122 Question 1d : 54592751430 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A sentence has been given with a blank to be filled with an

appropriate word. Choose the correct alternative.

Rohan I1s 5 than Seeta.

Options:

1. = years elder
2. % year older
3. v years older

4. = year elder

Question Number : 123 Question Id : 54592751431 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



A sentence has been given with a blank to be filled with an
appropriate word. Choose the correct alternative.

I anything from her for months.

Options:

1. v have not heard
2. » had not heard
3. = did not hear

4. » did not heard

Question Number : 123 Question Id : 54592751431 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A sentence has been given with a blank to be filled with an

appropriate word. Choose the correct alternative.

| anything from her for months.

Options:

1. v have not heard

2. = had not heard
3. = did not hear
4. = did not heard

Question Number : 124 Question Id : 54592751432 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A sentence has been given with a blank to be filled with an
appropriate word. Choose the correct alternative.

I waited for her 7 in the evening.

Options:

1. = gas far as



2. * aslong as
3. #= upto
4. v untill

Question Number : 124 Question Id : 54592751432 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A sentence has been given with a blank to be filled with an

appropriate word. Choose the correct alternative.

| waited for her 7/ In the evening.

Options:

1. = as far as
2. » as long as
3. ® upto

4. v untill

Question Number : 125 Question Id : 54592751433 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A sentence has been given with a blank to be filled with an
appropriate word. Choose the correct alternative.

Ruchika her car next week.

Options:

1. v will have repaired

2. = had repaired

3. » had had repaired

4. = should have repaired

Question Number : 125 Question Id : 54592751433 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



A sentence has been given with a blank to be filled with an

appropriate word. Choose the correct alternative.

Ruchika her car next week.

Options:

1. v will have repaired

2. = had repaired
3. = had had repaired
4.

* should have repaired

Question Number : 126 Question Id : 54592751434 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A sentence has been given with a blank to be filled with an
appropriate word. Choose the correct alternative.

Summer has set

Options:

1. v in
2. » about
3. % up
4, = on

Question Number : 126 Question Id : 54592751434 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A sentence has been given with a blank to be filled with an

appropriate word. Choose the correct alternative.

Summer has set

Options:



1. ¢ in
2. = about
3. % up
4. = on

Question Number : 127 Question Id : 54592751435 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose a sentence that contains an error.

(1) Aman gave a present to his wife.

(2) The carpets are wet as they were washed.
(3) The servant was talking to the grocer.

(4) We intend to staying there for a week.

Options:

1. =1
2. % 2
3.3
4, 4

Question Number : 127 Question Id : 54592751435 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose a sentence that contains an error.

(1) Aman gave a present to his wife.
(2) The carpets are wet as they were washed.
(3) The servant was talking to the grocer.

(4) We intend to staying there for a week.

Options:

1. % 1



2. % 2
3. % 3
4, v 4

Question Number : 128 Question 1d : 54592751436 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose a sentence that contains an error.

(1) They were stupid to forget the tickets.
(2) She was kind to help us.

(3) He was rude to say that.

(4) Ajay 1s silly to said such things.

Options:

1.1
2. % 2
3.3
4, 4

Question Number : 128 Question Id : 54592751436 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose a sentence that contains an error.

(1) They were stupid to forget the tickets.
(2) She was kind to help us.

(3) He was rude to say that.

(4) Ajay I1s silly to said such things.

Options:

1. % 1
2. % 2



3. 0% 3
4. v 4

Question Number : 129 Question Id : 54592751437 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Find the part of the given sentence that has an error in it. If
there 1s no error, choose ‘No error’.

We enjoyed watching (1)/ the clown performed (2)/ the tricks
(3)/. No error (4)

Options:

1. %1
2.v 2
3.3
4, %4

Question Number : 129 Question Id : 54592751437 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Find the part of the given sentence that has an error In It

If there 1s no error, choose ‘No error’.

We enjoyed watching (1)/ the clown performed (2)/ the
tricks (3)/. No error (4)

Options:

1. = 1
.

2. v 2
3. % 3
4. = 4



Question Number : 130 Question Id : 54592751438 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the following question, out of the given four alternatives,
select the alternative which best expresses the meaning of the
Idiom/Phrase.

Chicken-hearted

Options:

1. = A very easy matter

2. v Not courageous

3. = To dream of big things about the future
4. = Specles of an animal

Question Number : 130 Question Id : 54592751438 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the following question, out of the given four alternatives,
select the alternative which best expresses the meaning of
the Idiom/Phrase.

Chicken-hearted

Options:

1. = A very easy matter
2. v Not courageous
3. = To dream of big things about the future

4. = Species of an animal

Question Number : 131 Question Id : 54592751439 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Choose the word that can substitute the given sentence.

A person of intellectual or erudite tastes

Options:

1. = Belligerent
2. » Crusader

3. v Highbrow
4. = Iconoclast

Question Number : 131 Question Id : 54592751439 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the word that can substitute the given sentence.

A person of intellectual or erudite tastes

Options:

1. = Belligerent

2. = Crusader
3. v Highbrow

4. = |conoclast

Question Number : 132 Question Id : 54592751440 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the word that can substitute the given sentence.

The therapeutic use of sunlight

Options:

1. = Balneotheraphy
2. = Radiotherapy
3. v Heliotherapy



4. = Hypnotherapy

Question Number : 132 Question Id : 54592751440 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the word that can substitute the given sentence.

The therapeutic use of sunlight

Options:

1. = Balneotheraphy
2. = Radiotherapy
3. v Heliotherapy
4. = Hypnotherapy

Question Number : 133 Question 1d : 54592751441 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the word that can substitute the given sentence.

An emotional disorder characterized by an obsessive desire to
lose weight by refusing to eat

Options:

1. = Dyslexia
2. v Anorexia
3. » Amyxia
4. = Rhexla

Question Number : 133 Question 1d : 54592751441 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Choose the word that can substitute the given sentence.

An emotional disorder characterized by an obsessive desire

to lose weight by refusing to eat

Options:

1. = Dyslexia
2. v Anorexia
3. * Amyxia
4. = Rhexia

Question Number : 134 Question Id : 54592751442 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Rearrange the parts of the sentence in correct order.

If one wishes to study

P: traditional Ayurvedic medicine, one will
(. traditions in the south India

R: discover the most authentic

Options:

1. v PRQ
2. = RPQ)
3. %= QPR
4. = QRP

Question Number : 134 Question Id : 54592751442 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Rearrange the parts of the sentence In correct order.

If one wishes to study
P: traditional Ayurvedic medicine, one will
Q: traditions In the south India

R: discover the most authentic

Options:

1. v PRQ
2. » RPQ
3. = QPR
4. » QRP

Question Number : 135 Question 1d : 54592751443 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the given question, four words are given out of which one
word is correctly spelt. Choose the correctly spelt word.

Options:

1. = Meetre
2. = Mettre
3. v Metre

4. = Metree

Question Number : 135 Question Id : 54592751443 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the given question, four words are given out of which

one word I1s correctly spelt. Choose the correctly spelt word.

Options:

1. = Meetre



2. = Mettre
3. v Metre

4. = Metree

Question Number : 136 Question 1d : 54592751444 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the word that means the same as the given word.

DEVIATION

Options:

1. v aberration
2. = allegiance
3. = normality
4. = regularity

Question Number : 136 Question Id : 54592751444 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the word that means the same as the given word.

DEVIATION

Options:

1. v aberration
2. % allegiance
3. * normality
4. = regularity

Question Number : 137 Question Id : 54592751445 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose an odd one out:

Options:



1. = liberal
2. » tolerant
3. = biased
4. v delusion

Question Number : 137 Question Id : 54592751445 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose an odd one out:

Options:

1. = liberal

2. % tolerant
3. = blased

4. v delusion

Question Number : 138 Question 1d : 54592751446 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the word that means the same as the given word.

VIOLENT

Options:

1. » harmonious
2. = peaceful
3. v tumultuous
4. = temporal

Question Number : 138 Question Id : 54592751446 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the word that means the same as the given word.

VIOLENT



Options:

1. = harmonious
2. % peaceful
3. v tumultuous

4, = temporal

Question Number : 139 Question Id : 54592751447 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Improve the bracketed part of the sentence.

You cannot pass (unless) you study.

Options:

1. = provided

2. = aslong as

3. = less

4. v No Improvement

Question Number : 139 Question Id : 54592751447 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Improve the bracketed part of the sentence.

You cannot pass {(unless) you study.

Options:

1. = provided
2. * as long as
3. » less

4. v No Improvement

Question Number : 140 Question Id : 54592751448 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Improve the bracketed part of the sentence.

The girls were (pulled down) by the car.

Options:

1. v knocked down

2. = turned down

3. = turned away

4. = No Improvement

Question Number : 140 Question Id : 54592751448 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Improve the bracketed part of the sentence.

The girls were (pulled down) by the car.

Options:

1. v knocked down
2. = turned down
3. ® turned away

4. = No Improvement

General English?
Group Number : 8
Group Id: 5459272548
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time: 0
Group Marks: 20
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Maximum Instruction Time: 0
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Section Id : 5459272548

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 16

Number of Questionsto be attempted: 16

Section Marks: 20
Sub-Section Number: 1
Sub-Section I1d: 5459273056
Question Shuffling Allowed : Yes

Question Number : 141 Question Id : 54592751449 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Improve the bracketed part of the sentence.

Sonall shall have finished this painting (till tomorrow).

Options:

1. = until tomorrow
2. * onto tomorrow
3. v by tomorrow

4. » No Improvement

Question Number : 141 Question Id : 54592751449 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Improve the bracketed part of the sentence.

Sonali shall have finished this painting (till tomorrow).

Options:

1. = until tomorrow
2. = onto tomorrow
3. v by tomorrow

4. = No Improvement



Question Number : 142 Question 1d : 54592751450 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A sentence has been given with a blank to be filled with an
appropriate word. Choose the correct alternative.

Once a time, there lived a king.

Options:

1. v upon
2. » about
3.=1n
4. = at

Question Number : 142 Question 1d : 54592751450 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A sentence has been given with a blank to be filled with an

appropriate word. Choose the correct alternative.

Once a time, there lived a king.

Options:

1. v upon
2. » about
3. % In

4. = at

Question Number : 143 Question 1d : 54592751451 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Find the part of the given sentence that has an error in it. If
there 1s no error, choose ‘No error’.

Kusum found (1)/ her lost watch (2)/ of the cupboard (3)/. No
error (4)

Options:

1. =1
2. % 2
3.v3
4 %4

Question Number : 143 Question 1d : 54592751451 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Find the part of the given sentence that has an error In It.

If there 1s no error, choose ‘No error’.

Kusum found (1)/ her lost watch (2)/ of the cupboard (3)/.
No error (4)

Options:

1. % 1
2. % 2
3. v 3
4. % 4

Question Number : 144 Question Id : 54592751452 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose an idiom which means:

The ball is in your court

Options:



1. = To bend backwards

2. v The next action is from your side
3. = To burn the midnight oil

4. = To the bitter end

Question Number : 144 Question Id : 54592751452 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose an i1diom which means:

The ball 1s in your court

Options:

1. = To bend backwards

2. v The next action I1s from your side
3. ® To burn the midnight ol
4. = To the bitter end

Question Number : 145 Question Id : 54592751453 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Rearrange the parts of the sentence in correct order.

Eating sour

P: cause acidity

Q: lying down may
R: foods just before

Options:

1. = QRP
2. = PRQ
3. v RQP
4. = PQR



Question Number : 145 Question 1d : 54592751453 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Rearrange the parts of the sentence in correct order.

Eating sour
P: cause acidity
Q: lying down may

R: foods just before

Options:

1. = QRP
2. » PRQ
3. v RQP
4. = PQR

Question Number : 146 Question Id : 54592751454 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the given question, four words are given out of which one
word is correctly spelt. Choose the correctly spelt word

Options:

1. » Teachur
2. v Teacher
3. = Teecher
4. = Taccher

Question Number : 146 Question Id : 54592751454 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the given question, four words are given out of which

one word I1s correctly spelt. Choose the correctly spelt word

Options:



1. = Teachur
2. v Teacher
3. = Teecher
4,

% laccher

Question Number : 147 Question Id : 54592751455 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following is Not a synonym-antonym pair?

Options:

1. = opaque — clear

2. = boycott — defend
3. v ruin — devastate

4. = pollute — sanctify

Question Number : 147 Question Id : 54592751455 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following 1s Not a synonym-antonym pair?

Options:

1. = opague - clear
2. » boycott - defend
3. ¥ ruin - devastate

4, = pollute - sanctify

Question Number : 148 Question 1d : 54592751456 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Improve the bracketed part of the sentence.

It she (wants), she can come.

Options:

1. » wanted



2. » had wanted
3. » will want
4. v No Improvement

Question Number : 148 Question Id : 54592751456 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Improve the bracketed part of the sentence.

It she (wants), she can come.

Options:

1. = wanted
2. = had wanted
3. = will want

4. v No Improvement

Question Number : 149 Question Id : 54592751457 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A sentence has been given with a blank to be filled with an
appropriate word. Choose the correct alternative.

He Is European.

Options:

1.va
2. % an
3. = the
4, = one

Question Number : 149 Question Id : 54592751457 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



A sentence has been given with a blank to be filled with an

appropriate word. Choose the correct alternative.

He Is European.

Options:

1. v a
2. % an
3. # the
4. = one

Question Number : 150 Question Id : 54592751458 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Find the part of the given sentence that has an error in it. If
there 1s no error, choose ‘No error’.

I'm afraid (1)/ that something serious (2)/ may happens (3)/.
No error (4)

Options:

1. %1
2. % 2
3.v3
4. %4

Question Number : 150 Question Id : 54592751458 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Find the part of the given sentence that has an error In It

If there 1s no error, choose ‘No error’.

I'm afraid (1)/ that something serious (2)/ may happens (3)/.
No error (4)

Options:

1. % 1
2. % 2
3.+ 3
4. = 4

Question Number : 151 Question Id : 54592751459 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the following question, out of the given four alternatives,
select the alternative which best expresses the meaning of the
Idiom/Phrase.

Fit as a fiddle

Options:

1. = A bad company

2. v In a perfectly healthy condition
3. = A poor point

4. = To be humble and beg

Question Number : 151 Question Id : 54592751459 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



In the following question, out of the given four alternatives,
select the alternative which best expresses the meaning of
the Idiom/Phrase.

Fit as a fiddle

Options:

1. = A bad company

2. v In a perfectly healthy condition
3. = A poor point

4. = To be humble and beg

Question Number : 152 Question Id : 54592751460 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Rearrange the parts of the sentence in correct order.

Youth in lower

P: time with their families
(): more inclined to spend

R: soclo-economic classes are

Options:

1. v RQP
2. = RPQ
3. x QRP
4. = PQR

Question Number : 152 Question Id : 54592751460 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Rearrange the parts of the sentence In correct order.

Youth in lower
P: time with their families
Q: more Inclined to spend

R: soclo-economic classes are

Options:

1. v RQP
2. = RPQ
3. = QRP
4. » PQR

Question Number : 153 Question 1d : 54592751461 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the given question, four words are given out of which one
word is correctly spelt. Choose the correctly spelt word.

Options:

1. v Beautiful
2. » Butiful

3. = Beutiful
4. = Beautifull

Question Number : 153 Question Id : 54592751461 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the given question, four words are given out of which

one word I1s correctly spelt. Choose the correctly spelt word.

Options:

1. v Beautiful



2. = Butiful
3. = Beutiful
4. = Beautifull

Question Number : 154 Question 1d : 54592751462 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the word that means the same as the given word.

CAPTIVATE

Options:

1. v fascinate
2. » offend

3. = disillusion
4. = praise

Question Number : 154 Question Id : 54592751462 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the word that means the same as the given word.

CAPTIVATE

Options:

1. v fascinate
2. » offend
3. = disillusion
4. = praise

Question Number : 155 Question Id : 54592751463 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Improve the bracketed part of the sentence.

The Earthquake victims (suffered of) cholera.

Options:

1. = suffered in

2. v suffered from

3. = suffered within
4. = No Improvement

Question Number : 155 Question Id : 54592751463 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Improve the bracketed part of the sentence.

The Earthquake victims (suffered of) cholera.

Options:

1. = suffered In
2. v suffered from
3. % suffered within

4. = No Improvement

Sub-Section Number: 2
Sub-Section Id: 5459273057
Question Shuffling Allowed : Yes

Question Id : 54592751464 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (156 to 160)

Question Label : Comprehension



Read the following information carefully and answer the
given questions.

‘Mental health’ is sometimes misunderstood as mental ill-
health or illness. However, the absence of mental health does
not necessarily mean the presence of mental illness.
Similarly, if someone has a mental illness, this does not mean
a complete absence of mental health. Mental health is related
to social and emotional wellbeing of individuals and
communities. Having a good mental health, is more than just
the absence of illness. It’s a state of overall wellbeing. It
generally means having the ability to enjoy life; to cope with
and ‘bounce back’ from stress and sadness; to be able to set
and fulfill goals; having the capacity to build and maintain
relationships. To put in simply, the term ‘social and emotional
wellbeing’ describes it well.

Mental ill-health affects all of us. The term ‘mental ill-health’
is often used as an umbrella term that includes both mental
illness and mental health problems. A mental illness is a
disorder diagnosed by a medical professional that interferes
with an individual’s cognitive, emotional or social abilities. A
mental health problem also interferes with a person’s
cognitive, emotional or social abilities, but may not meet the
criteria for a diagnosed mental illness. Mental health
problems often occur as a result of stress, and are usually less
severe and of shorter duration. However, if mental health
problems persist or increase in severity, they may develop
into a mental illness. We need to focus on prevention if want
to make a difference. However, the majority of funding
continues to be concentrated in downstream interventions
targeted at treating mental illness once it has become severe.
Prevention-focused approaches are more cost-effective than
treatment approaches, because mental illnesses cannot be
dealt with by only treating one individual at a time. Investing
in the prevention of mental ill-health leads to a more efficient
use of mental health resources.



Sub questions

Question Number : 156 Question Id : 54592751465 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Mental health refers to:

I. Absence of mental illnesses.

I1. Social and emotional well-being.

III. To be able to enjoy life.

IV. To be able to cope up with stressors.

Options:

1. = I, II and IV
2. = I, II and III
3.«=ITand IV
4.« 11, IIT and IV

Question Number : 157 Question 1d : 54592751466 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What is a cost-effective way to promote mental health
according to the author?

Options:

1. = Targeting mental illnesses and trying to treat them at an
early stage.

2. v Investing in the prevention of mental illnesses.
3. # Setting up more hospitals dealing with mental illnesses.
4. = Studying the impacts of mental illnesses on mental health

Question Number : 158 Question Id : 54592751467 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What does ‘umbrella term’ mean in the passage?

Options:
1. v Term used to cover a broad number of items that all fall
under a single common category.



2. » Term used to negate the presence of any other item
within the same category.

3. = Term which describes the relationship between two
things.
4. = Term that defines a particular category.

Question Number : 159 Question 1d : 54592751468 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which statement is correct about mental health and mental
illness?

Options:

1. = Mental illness interferes with a person’s cognitive,
emotional or social abilities whereas mental health problem
does not.

2. v Mental health problems are shorter and less severe than
mental illnesses.

3. » Mental health problems always develop into mental
illnesses.

4. = Preventing mental ill-health is not possible and one
should accept it and try to seek timely treatment.

Question Number : 160 Question Id : 54592751469 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What does the author mean by ‘downstream interventions’?

Options:

1. = Approaches that have the potential to affect large
populations.

2. = Approaches that consider mental illnesses severe.

3. v Individual-level behavioral approaches for disease
management.

4. = Treating mental illnesses using intervening treatments.



Question Id : 54592751464 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (156 to 160)

Question Label : Comprehension



Read the following information carefully and answer the

given questions.

‘Mental health’ is sometimes misunderstood as mental ill-
health or illness. However, the absence of mental health
does not necessarily mean the presence of mental illness.
Similarly, If someone has a mental illness, this does not
mean a complete absence of mental health. Mental health is
related to social and emotional wellbeing of individuals and
communities. Having a good mental health, is more than
just the absence of illness. It's a state of overall wellbeing.
It generally means having the ability to enjoy life; to cope
with and ‘bounce back’ from stress and sadness; to be able
to set and fulfill goals; having the capacity to build and
maintain relationships. To put in simply, the term ‘social and
emotional wellbeing’ describes it well.

Mental ill-health affects all of us. The term ‘mental ill-health’
is often used as an umbrella term that includes both mental
lliness and mental health problems. A mental iliness Is a
disorder diagnosed by a medical professional that interferes
with an individual’s cognitive, emotional or social abilities. A
mental health problem also interferes with a person’s
cognitive, emotional or social abilities, but may not meet the
criteria for a diagnosed mental illness. Mental health
problems often occur as a result of stress, and are usually
less severe and of shorter duration. However, if mental
health problems persist or increase In severity, they may
develop into a mental illness. We need to focus on
prevention If want to make a difference. However, the
majority of funding continues to be concentrated in
downstream interventions targeted at treating mental illness
once It has become severe. Prevention-focused approaches
are more cost-effective than treatment approaches, because
mental illnesses cannot be dealt with by only treating one
individual at a time. Investing in the prevention of mental ill-
health leads to a more efficient use of mental health

resources.



Sub questions

Question Number : 156 Question Id : 54592751465 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Mental health refers to:

|. Absence of mental ilinesses.
Il. Social and emotional well-being.
IIl. To be able to enjoy life.

V. To be able to cope up with stressors.

‘Ip. = I, Il and IV
2. = |, Il and Il
3. = Il and |V

4. ¢ Il, lll and IV

Question Number : 157 Question Id : 54592751466 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What 1s a cost-effective way to promote mental health

according to the author?

Options:

1. = Targeting mental illnesses and trying to treat them at

an early stage.
2. ¢ Investing In the prevention of mental illnesses.
3. = Setting up more hospitals dealing with mental ilinesses.

4, = Studying the impacts of mental illnesses on mental
health

Question Number : 158 Question 1d : 54592751467 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25

What does ‘umbrella term® mean in the passage?

Options:

1. v Term used to cover a broad number of items that all

fall under a single common category.

2. = Term used to negate the presence of any other item

within the same category.

3. = Term which describes the relationship between two
things.
4, = Term that defines a particular category.

Question Number : 159 Question Id : 54592751468 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which statement is correct about mental health and mental

Illness?

Options:

1. = Mental illness interferes with a person’s cognitive,
emotional or social abilities whereas mental health problem

does not.

2. v Mental health problems are shorter and less severe

than mental illnesses.

3. » Mental health problems always develop into mental

Illnesses.

4. = Preventing mental ill-health 1s not possible and one

should accept it and try to seek timely treatment.

Question Number : 160 Question Id : 54592751469 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



What does the author mean by ‘downstream interventions’?

Options:

1. = Approaches that have the potential to affect large

populations.
2. » Approaches that consider mental illnesses severe.

3. ¢ Individual-level behavioural approaches for disease

management.

4, = Treating mental illnesses using intervening treatments.
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Question Number : 161 Question Id : 54592751470 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25

e T SIec] Sl ITer FTd ity
Ui + 3T

Options:

1. v Tcg=T
2. % FiaafET
3. = Y=
4. = gia=r

Question Number : 161 Question Id : 54592751470 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

few arv ersgr Fr iy AT Hriew]

Ut + 3=

Options:

1. v Ucg=T
2. = gidamr
3. = gcgTT
4. » gfar

Question Number : 162 Question Id : 54592751471 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T T 96 § U AT By

STHITT

Options:

1. %%
2. % 3
3. & 9T



4, v 9T

Question Number : 162 Question 1d : 54592751471 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

foU 910 ofsg H eI AT SV

Options:

1. = §
2. % 31
3. » HTT
4, v HATET

Question Number : 163 Question Id : 54592751472 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

el #§ & O 9T 2Me¢ 3T Ycd g &7 38T -1g] 87

Options:

1. » QAT
2. % TSITT
3. = BgIqm™T
4. v 3FREAT

Question Number : 163 Question Id : 54592751472 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

frafe™@aT # @ i AT s T UcIT T 3STEI0T el &7

Options:

1. = HTTaT
% TIoTTell

2
3. % HEeldlel
4

v HoAGTdAT



Question Number : 164 Question Id : 54592751473 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

MYl d & ¥ S 9T ec IcaH e, 37

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for all
candidates.
Options:

1. pU®m
2. g

3.7
4, Bfdgt

Question Number : 164 Question Id : 54592751473 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

eIl # & il AT o6 IcdH eUSE §7

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for all
candidates.
Options:

1. $9h
2. Torgre
3. AT

4. BAfaaET

Question Number : 165 Question Id : 54592751474 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

GAT, G-I, TerSIur 317, T &=+ aTeil [shaT Bl &aT gl SITdT 87

Options:

1. v 1Y TshaT
2. % 3[RHHD AT
3. x GhH® opdT

4. = YU ThdT

Question Number : 165 Question Id : 54592751474 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25




AT, TaeTH, FAVT e & Falel aTell ohAT T FAT FHET STl
&7

Options:

1.JE|T%T|T;[%T€IT
2. = 3hAsw ToRaT
3. = HehHh TohaT
4. = 39T fsRam

Question Number : 166 Question Id : 54592751475 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fow g areaisr & forg 3T gec @ Ta Hifegl

3TUAT AT TG e Tl

Options:

1. v Adetall
2. % oG
3. * gAY

4, « g

Question Number : 166 Question Id : 54592751475 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Tow 37T grerel & e 3T ¢sg &7 Tdd FITHAT|

IYAT Ades A€ Fa arell

Options:

1. v #AdET
2. = fadr
3. = TagdAdes
4. = g



Question Number : 167 Question 1d : 54592751476 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

e T aTardie & TolT 3T Tec, T T By
< & T @ erell

Options:

1. = 2T
/AERETALI
3. v oot
4. % =AY

Question Number : 167 Question Id : 54592751476 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

2 v greFgTer & folv 3T ofeg &7 I ShIoT]|

ST & 2IY 2Fel arell

Options:

1. = ST

2.

3. v TogeanT
4.

Question Number : 168 Question Id : 54592751477 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

e T SIeg &l Thel¥ SIec ST Ryl
ELIEH

Options:

1. = M9

2. % GG



3, % MaT
4. v MR

Question Number : 168 Question 1d : 54592751477 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

2w 7w orsg T ANH e AT FIiaw]

IGEIED

Options:

1. = AT

2. % $TIEIa
3. » fogY
4. v TT9H

Question Number : 169 Question Id : 54592751478 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

e T S[ec @l TIidart JATd ity
HADGST

Options:

1. « AT
2. v STHT
3. = 3Ty
4. % qc&gu

Question Number : 169 Question Id : 54592751478 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

faw 377 oreg T YATIAT™T AT ISV

Folhol

Options:



B W=
®

® cIcafuT

Question Number : 170 Question 1d : 54592751479 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T T eree g @ 3ref FTa Bty

o - €9
Options:

1. = GHTd - AT
2. % JFTA - ST
3. v g1l - GHIa
4. % A - O

Question Number : 170 Question 1d : 54592751479 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

faT T o JIH I T AT FIST

Hal - Yol
Options:

1. » JFYTd - dcal
2. % FFITT - 3ThTT

3. v §Igel - &

4. = JEITT - W

Question Number : 171 Question Id : 54592751480 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



TEQ TQ arer # JUYeh <Tec;, DI AT e [eh TIT Dl Yid DIl

TE] ©ITET &t F¥IT AT 9T H g3 4Tl

Options:

1. = {07
2.« SH
3. % H[cH]

4, * JpgH

Question Number : 171 Question Id : 54592751480 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

feU 910 are | SUYFA oee FT T Rk Nebed TAT HT qfc
%Iiﬁlﬂl

ferey andr <1 @gardr i am—crfr§3rrrm|

Options:

1. = AIOT
2. v SledH

3. ® WIcHAT
4. % oTohdTal

20

Question Number : 172 Question Id : 54592751481 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TET TQ aATer # JUYeh <Tec;, DI AT e [eh T Dl Yid DIl

CShRIT | T YT HT g3 4Tl

Options:

1. = 2o
2. QU
3. v T



4. = grggont

Question Number : 172 Question 1d : 54592751481 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

oo 7w g A& 3YYFT Se, T qI e Nerd ATl FT g
FIoIT]

ESHRRUT H ST 3cITd AT &3 27|
|

Options:

1. = aar
2. = g
3. v T&ar
4. % FIEHAON

Question Number : 173 Question 1d : 54592751482 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

e T aTerdTel & TolT 3T e T T By
T T FeId AT Tg= dTelT 9T

Options:

1. % 3
2. % 3T
3. = 9o
4. v gldrel

Question Number : 173 Question 1d : 54592751482 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

2w Irw greFaTer & ol 3T ofeg &7 IId ShIov]|

TAT T T 379 I&e TTelT A9

Options:



qaer
v adldel

ol
#®

Question Number : 174 Question 1d : 54592751483 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

e T SIeg T GATATIT e FATT By

TEH

Options:

1. = gur
2. % T
3. v 0
4, » &A1

Question Number : 174 Question 1d : 54592751483 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

2 a0 ereg &7 GAHTATAT oleg AT Fifaw]

HYH

Options:

1. = g1
2.
3. v I
4.

Question Number : 175 Question Id : 54592751484 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



e MU S[ec el GATATIT Mec, AT RSy

JelH

Options:

1. = STieraT
2. v dd
3. = gur

4. * Gg

Question Number : 175 Question Id : 54592751484 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

8w 90 oreg &7 FATATAT osg AT FIilaw]

ScdH

o

Options:

1. = arfeler
2. v Acd
3. = galr
4. = GHE

Question Number : 176 Question 1d : 54592751485 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TEQ 7T ererg # Seid ULEI T g dleh eh T &l I iyl

39 Hid ghS - Ths gl Tl

Options:

1. %9
2.vH
3. = @l
4. %



Question Number : 176 Question 1d : 54592751485 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fEw a0 aeFy & 3T et F7 I9a Fh Red T Hrogfd
FIew|

38 7fis gHs - THs &l

Options:

1. = &
2. v &
3. % @I
4, =

Question Number : 177 Question 1d : 54592751486 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TeT M7 arad § T@iTdd 9T BT Ggt B ATd hitag]

¢ Ted & Mepetdr gl

Options:

1. » Terer dATEd
2. v 3T
3. = @l

4. % oH

Question Number : 177 Question Id : 54592751486 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

faT I G A YEIohd HT9T T Ta&T ek AT hiTIT|

oISl qdd & felehercl &

Options:

1. = YT ST



2. v 34Tl
3. % hdTl
4. = HA

Question Number : 178 Question Id : 54592751487 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

U T T § 3@iTchd YT &l aaT ATd hiToIy]

SITe] T g1 TS 3

Options:

1. = Uepa=d
2. % Teaa

3. v dgedd

4, * I

Question Number : 178 Question Id : 54592751487 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

few 10 greg A IGIhd HET T I AT hITAT|

ST ITH B a5 &

Options:

1. = Uehadel
2. = Tegade
S.JEIET:EI?I'
4, = IR

Question Number : 179 Question 1d : 54592751488 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



TEU 1T 96 BT Sgera FATd Tyl
CIEGH

Options:

1. = wdrar
2. = STATIT
3. v gHATAal
4, = it

Question Number : 179 Question Id : 54592751488 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

faU v o Sgade AT T

MTHAT

Options:

1. = SaAdrr
2.
3. v SATTAr
4,

Question Number : 180 Question 1d : 54592751489 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

MR & T DI 9T Uec, Udhaa gl a7

Options:
1. = qH
2. v 35
3. % def
4. * gd

Question Number : 180 Question Id : 54592751489 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25




fAFeITel i & & i AT ¢eg Tahadel ool §7

Options:

1. = TIA
2. v 3o
3. % ddl
4. = &R

Group Number :

Group Id:

Group Maximum Duration :
Group Minimum Duration :
Show Attended Group? :
Edit Attended Group? :
Break time:

Group Marks:

IsthisGroup for Examiner?:

Revisit allowed for group Instructions? :

Maximum Instruction Time:
Minimum Instruction Time:

General Hindi?

10
5459272550
0
120
No
No
0
20
No
Yes
0

0

General Hindi2

Section Id : 5459272550

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 16

Number of Questionsto be attempted: 16

Section Marks: 20
Sub-Section Number: 1
Sub-Section 1d: 5459273059
Question Shuffling Allowed : Yes

Question Number : 181 Question Id : 54592751490 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25



T TTQ ATHL T eg | AT e SIFH DS Fic 3l

TS DT YD ieh (1)/ AaTSer & [OHT (2)/ 3704 31T 3MTga-9T (3)/
HEYE I ol g (4)

Options:

1. =1
2. % 2
3.v3
4 %4

Question Number : 181 Question 1d : 54592751490 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

few o arerg 1 g MwEr Ad W SEA w5 I B

THTST T Ucdeh giad (1) Aeser o foaT (2)/ 39er 39
STOTTEST-AT (3)/ FEH ot ooraT & (4)

Options:

1. = 1
2. % 2
3. v 3
4. % 4

Question Number : 182 Question Id : 54592751491 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Mg § § DI 97 a1 et da1FT Tat g2

Options:

1. = AGTd B aTel B GF ATH Hel il

2. * GG Gid a1 ST agegm ol gl

3. » W PHL BT T G 3l

4. v ¥ U U I a1, ST FTUT T SATYTE T 2Tl




Question Number : 182 Question 1d : 54592751491 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

e @ & @ i a1 gy O3 I g o8l &7

Options:

1. % ABad Hla gTel I &r aAtail AT

2. = gue g & Rf3ar ggge oo &
3. » AY FAY T el =TT §I
4, v # v g T A, S AT FT SFUR FIAT 2T

Question Number : 183 Question Id : 54592751492 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TeT T amerar & aTed dt UgaTT Hiagl
CIGIRCICICE IR E I

Options:

1. * Megar=y
2. v @Ay
3. * pHAT
4, ® Iad<d

Question Number : 183 Question Id : 54592751492 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

faT 90 e & areg hT g hiev|

SIaT =TT T @r &

Options:

1. » ToAcIar
2. v Haared
3. = hAAT




4. = @I

Question Number : 184 Question Id : 54592751493 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

o T aTerd &l U ST hi=gl

<TG 3T Th Il Yol JT gl

Options:

1. v quicgide
2. * TITdeTER
3. * Gragdyd

4, * M dh

Question Number : 184 Question Id : 54592751493 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

feT M0 greg T T& AT hIo0|

qE 379 Tk FIhI Tel IHT &

Options:

1. v JUIEIIds

2.
3. » FIdcgadeh
4, = Tocgedides

Question Number : 185 Question 1d : 54592751494 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T T arer &t g AT Byl
AT 3TUAT I B Tl dT g

Options:

1. v Gegrem




2. % MeIaTdd
3. » gy gad

4, = TacTdIeD

Question Number : 185 Question Id : 54592751494 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fov arw gt fr gica AT HIfAv]

%Hﬁ MYAT HTH FT =T FEMI

Options:

1. v Iegrdesh

2. = TereTrareien
3. » WIALY Ik
R I EICED

Question Number : 186 Question Id : 54592751495 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

feq g At # Tk €A1 Y gid iyl
QA TS 3T 3l

Options:

1. » 39
2. v 3GPT

3. % qH
4, = 3T

Question Number : 186 Question Id : 54592751495 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



feu av arrr # R T2re &7 g Hrieel

H 3R TS 3T &

Options:

1. = 3%
2. v 3T
3.« gH
4. = 3T

Question Number : 187 Question Id : 54592751496 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TEQ Y eTerg § IUGeh AT I SULNT Dleh 1¥eh T Dl Jid DIyl

fpdl W egar_ e gl T@AT dnigyql

Options:

1. v 9, @m
2. % ¥, T
3.« 4, Pl
4, = F, dr

Question Number : 187 Question 1d : 54592751496 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

few a0 arrr # IUger TIEI T ST Floh Nebel TUTT T
GRS

R AT e HT el &7 ANg0|

Options:

1. v &, T
* H, W



3. = &, I
4. = &, Hr

Question Number : 188 Question 1d : 54592751497 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

MHTeiad Uy #, ICU U I [dded] # 9, 39 Tddmed @ Tdq & Sl e U
T qgTor & 31 ol AYS & & ek BT 3l

T Pf 7Y 4g &I

Options:

1. « foufa & gea gt feruf & trgm
2. o 3R 3T ¥ @ AT ATI8 Ul
3. = AT I Tem A1

4. v TATLIT & ST °X aT0d olleTl

Question Number : 188 Question Id : 54592751497 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Ao @a weeT A, T a7 I) RAeul & @, 3T AFeq &
T R S oU T JAETY & AT FT TIATS FT H kA
LT &l

TIAT hT HE Hg ST
ot o

Options:

1. # fadicad & @<d & faufca A &g
2. % ol 3T &7 H T BT AR

3. % &HAAT ¥ 3Tk HIAT|
4.

v T@Tem & FRUT 9T ardg lcar

Question Number : 189 Question Id : 54592751498 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



MEeiEd Uy #, 0T M7 I [Admedl # ¥, 39 [ddeT &7 Id9 B2 ST [dJ
MY JgTa & 1Y Dl 98 €T F <h BT gl

ool WG TG]

Options:

1. v o Rg g

2. % FTOT gIA U I & ST

3. # 3Id ¥ I &t Sitq gidr 2l

4, % T P HRUT AT 3N Y I IS

Question Number : 189 Question Id : 54592751498 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T uea A, Gv 717 I) TFedt # A, 39 AT
el hY o [T I ﬂslqlﬁﬁﬁaﬁﬂﬁmwﬁﬁﬂﬁﬁ
LT Bl

SoT A TdgaT

Options:

1. v &7 @F |

2. » 3THI gl G HIH & STl

3. % 3Id H I I Siid aidr g

4, = TAeTT F FIUT Sl I & &l 3T

Question Number : 190 Question Id : 54592751499 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fyerad Ty #, U 77 IR Odeut § 9, 39 [OaeT ar a3+ o & ey
T YETeR o 379 Y 9B T 4 &h BT gl

31T 4T g1

Options:



1. # T F BT &l
2. % ThHATT g1l
3. % 3BT 7 oITHT

4, v &I 7 gl

Question Number : 190 Question Id : 54592751499 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

frafe@a wed H, U v I &Fedl # @, 39 AFeT &
T e ST EU I gslqlﬁﬁﬁaﬁﬂﬁmmﬁﬁﬂﬁ
FIAT Bl

AT 9dT o BT

Options:

1. = @I H HT olalT|

2. * UhHATT HHT|

3. % TSI o oldlaT|

4. v TEdcT o gl

Question Number : 191 Question Id : 54592751500 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TET T 2rec] o GHg D 1ol Al GEIa &l ag hiiyl

HTATT B dieT=Tl

Options:

1. * QTS UTeAT
2. v ST ATAT
3. % DT Jeld
4. = @I 9T e ]

Question Number : 191 Question Id : 54592751500 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



few a0 ersel & THg & AU WA FEE F T FS0

HTHTT FH dTeleT|

Options:

[
1. = T Yol

2. v S3I AT

3. % hIAT Yeld

4. % THT GT AT ST

Question Number : 192 Question Id : 54592751501 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TEQ Y 2rec] h GHg o 1o FgT GEIa dr ag iyl

&< dXth Jiechel H TOEATI

1.;:34Ta?vrﬂ'§rrrr{
2. % Yg & 0 a0l & G
3. v BUT P3AT IUT GTS §IAT

4. % Tdel BT q1S T

Question Number : 192 Question 1d : 54592751501 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

feu a0 ereel & dHg & Tov el JEray T Thel HIeiv|

g NE JFd A TETa

1. = 37 & IF AR
2. « Hg H UA el HA B
3. v T ;T 3N WK glal




4. » TIer &7 dIE TATAT

Question Number : 193 Question Id : 54592751502 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

TEQ TQ eTerg @ Tl FgT ellentich T ad= ehieh T¥eh AT el it ehioIql

ST 4 &t {og o T §%, Il al

Options:

1. v R TS
2. * SRS
3. % TMIAS TS
4, » QT gH 1T

Question Number : 193 Question Id : 54592751502 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

o a7 g & foIv @@ aeRIerd T I i o T2ATd
Fr gfd Fiow

STdTel 9 T Hcg AT &5, 39enl ol |
i L 5

Options:

1. v AT g 13

2. T W IS

3. = Tl AT 92

4.%%1”§ID?TFI?IIT

Question Number : 194 Question Id : 54592751503 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

feT M7 T Toig & &0 &l Uga dhitay

Ta L

Options:



1. » &THT G
2. v oo g
3. * I g
4, » 3L TG

Question Number : 194 Question Id : 54592751503 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

U a7 [oUdA Red & §9 I 9§l HIeiv|

Options:

1. = omag ~eEd
2. v Taauor REe
3. » IfeqTw e

4, » 38307 =ga

Question Number : 195 Question 1d : 54592751504 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TP &I U0 & STEe] Bl 36T T B TelT [y o o T ST [T
SITdT 872

Options:

1.+,
2. % |
3. % -
4, =

Question Number : 195 Question 1d : 54592751504 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Teh &I AU o eMsal I 3ol el & Tolv T aUHE Read &
3UeT RaT Srar &7

Options:



Sub-Section Number : 2
Sub-Section Id: 5459273060
Question Shuffling Allowed : Yes

Question Id : 54592751505 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (196 to 200)

(Question Label : Comprehension



T RIS T T g1 ITRITSr & SR U= Ut Wef 10U M 31 TRIisr &
ETYCin g T4T Ucdd UF § IR [dchodl # & Tgl fdlhot g

WGTHT 3R TAgMT &7 Gord F3T ST&I0T ST Bl &1 F T TG 31Tl
GO U g1 Il 31 DI DI FhT AT T o AT T T ToT TP
AT o] TeT & HTTUT & ofehd TehdiT UTTTeT o S8l dehl 3T UdT
gIdT gl TeF TG 3 T gH G <ATgd 8l gl IF SIeTT <ATgd gl §H oIl
g o 5 & g SIgax qih & GRS gleilicn VAT glaT Tgil g¥ Uar gf
STg1 AeTdT 3N 3ITEID Sler Bl PeAT gH AT DA Dl dhell § UTRIT e
2dt gl T AIaIT=en = 310+ 34+ # T T [+ & & 3rivTerdy
SATET el g, agl ol § Tg! Teld I ST TerHTad ST B Tanidd gl
UTdT 8, TN SATET eleA-T aTd] I ATUTATT g T GTA T@aT 5 3}
T dTeAT a9 Ted] & STel § BY B g ATAT 3l o1 NTATID gl AT
IU=ITIR ST EATAIT # g7 Uk SEL &l &Td 7 g, 979 greil giv i
IS P gl G SATET silel 3 I DY IFGAT & H gL gl g
Th gH 310 o § STy Fierd § 3T @ & oI # A1 SATET dield arell
o ZOHT thT AT I ST It g1 3K 3T Tgi AT ST =g g ar
3T ST § ST st 3T 3T 3T Y SHed ST4T aTgd g of GeAT &
G ACI

Sub questions

Question Number : 196 Question Id : 54592751506 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

3IFGAT &l i dhell AT TIehidd gidl 82

Options:
1. * T G & BT

2. v AT8H AeT & BRI
3. % & e D PR

4, % B G & P

Question Number : 197 Question 1d : 54592751507 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TP dlel dTet ATHYTADT PT &gl UT FAT THI TSdT 872




1. * &g 3T8d dleld g

2. % I BH dleld g

3. v I TEI - Teld @I AT gl D T
4.+ TYIGITE

Question Number : 198 Question Id : 54592751508 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TeheTeh SEHT 3IT8Ie gid g7

Options:

1. » @H dleT alel
2. % H G eTol
3. v SITET &iel dlol
4, % SIS G oTel

Question Number : 199 Question Id : 54592751509 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

gH G oATgd gt gl’ ¥ &7 dTcud g7

Options:

1. v 57 O ST a18d &
2. » B Tohdl ¥ T Tal dT eTga
3. » g gt @t e g1 &7 aTga
4, » g0 9 UG d1gd &

Question Number : 200 Question Id : 54592751510 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

SUeh TWEATSr T ek T g2

1. » TPHIIar

2. % Slel <l &ell
3. v G Bl Dol
4. * ITAHTer o




Question Id : 54592751505 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (196 to 200)

Question Label : Comprehension



Teh T TSAT IrAT &1 AT o MU UT Ui Ueel U 9w &
| ITSHTST T EGTeTqdeh U6 TAT Ucdeh Woel H IN fdshodl # &
e fadheT ot

a

HETCHT A Taearell T qad o357 F&T0T 3dTel Sl €Al & Heolell
| TE AT FO AT & Tehdl gl HIT hT hehel ATl H olhd
AT T Tl Dol deh| ATl o[UT FhaT & HTYOT & oehy foral
UETel & S3eslal deh| 3HHAT VT BT o6l @< Ig & [ gA
HeToll TEd & FEM| S8 Srofell g &1 gH o ¢ for gad
oleT &H g dileh & THSII Elallich UAT &1dT I8l 8H udT
81 el Tolcll 3T 37Tk Yool hT ol g 37Tl el I
Foll H TR T 3dT &1 Toh A Alfeleh o 3Ta 37eTqTeT A
URIT T o 511 & MT8dEas e dioid &, dal swal # 9al
el | 3T TAATAdF AT FA fawfad g arar g, Faifer
SATET STelaT ATl ol [AULTHRT ik & A T&AT & 3T
ATH aTell o9 2sgl o STl # B T Ig ST &1 s
3roaTieh &1 a1 3ETTRes dlel Feafadr # gH Ush gEy s
S o Hel, S BAT Bl hT RIRIA KIS &1 Te ST qrefat
3R R T AT F A ST BT & ToF g7 30 s A
SIATET AT § 3 @ & R H FA| SIET Seld arell &
GRA T TEAT AT ST BT &1 3FN 3T gl GRAT FefleT]
AR & dl 3Tal aIEdl 8 S1ET drel 3T 39R 3T a0 gIEd
AT TG & o GeA & FH el |

Sub questions

Question Number : 196 Question 1d : 54592751506 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



3TeTEeAT el T holl 41 faehfad glar &7

Options:

1. = o g & FROT

2. v T Stelad & FHIOT
3. * S Sl ok hROT
4. » FH Helal F FROT

Question Number : 197 Question 1d : 54592751507 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

HTR Solel dTel HTHHTGHRT I Swdl YL AT THTT ISl &7

Options:

1. % = TTH Telad &
2. % god H Seld &
3. v §<x Hal - eld &l A I8l hd 91

4. « ST ET geid &

Question Number : 198 Question Id : 54592751508 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

m?maﬁa@ﬁﬁ?

Options:
u

1. = héT Slelel dTol

2. = kA gdﬁ aTel
3. v SIET ol arel

4. % S {-Ijo'la:i arel

Question Number : 199 Question Id : 54592751509 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

§H ool dIgd 81 olal' & T dead &7

Options:




1. v &7 % e« agd §
2. = 8H Tondl & &1 T8l el d8a
3. = &H FRET Y Siele a8l 3o I18d
4. = A % UgaT IEd &

Question Number : 200 Question Id : 54592751510 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

SYYF IEATYT FT AR T &7

Options:

1. = QhlAdl

2. % lelel I Fell
3.@Wﬁw
4. = 3TTaR Tl




